o AR EEN TR
@mm Fluid Connector Expert

GIVE YOU WHAT YOU WANT

% 2 E Rk

DOMAIN HYDRAULIC HOSE FITTING

2% (HM) MAARA ]

DOMAIN (CHANGZHOU) TRADE CO.,LTD.

www.domaincz.com



NI M)
Company profile
: R R

!!E"&t-..

G Al

L e TERE SRS . TEREE, KL 82—,
S B R R TR P R, R R . TR Rk
WEEHE . WUk . R,

LR, 22T RE RN & RS B 2 s fT, vaihit
() RN U e 25 VR & B (L B M B S g LI 7= . P O RR 2, b2
AW Hbr: RS, gl A br! £ LRI BE b, &F
HafE, BEA R, BEH AT T EZ 20 m VR S
npRIE Rk BE RSk k. BEL BE . EHLEE, BRI Al
AT IR U B TR AR L !

DOMAIN is the guarantor of engineering equipment pipeline. For engineering
equipment, choose DOMAIN to provide more support. DOMAIN provides complete
pipeline components for engineering equipment, including hydraulic coupling,
hydraulic fittings, hydraulic adapter, hydraulic ferrule, hydraulic hose, etc.

Over the years, DOMAIN (CHANGZHOU) TRADE CO., LTD. has devoted himself to
ensuring the safe operation of hydraulic pipelines of engineering machinery and
equipment, providing various types of high-quality products for hydraulic pipelines
of engineering machinery and equipment all over the world. Customer’s need is
our goal; Customer’s desire is our goal! In terms of engineering machinery and
equipment, if you have any demands, problems and support or you want to get
DOMAIN'’s details catalogue of hydraulic couplings, hydraulic fittings, ferrule,
flange, adapter, hydraulic hose and so on, please feel free to contact us. Many
thanks!




DOMAIN HYDRAULIC HOSE FITTING

C 10311
%W .
| A EI MBS O ME %S
W == | ” | | O-RING METRIC MALE FLAT SEAL
&% REF. JB/T 988
S1
X 5 2 4E % % HOSE BORE JX <} DIMENSIONS
PART NO. THREAD E AP TR DN Fr'5 DASH A C S1
10311-12-04 M12X1.25 6 04 225 10 14
10311-14-04 M14X1.5 6 04 23.5 11 14
10311-16-04 M16X1.5 6 04 235 11 17
10311-16-05 M16X1.5 8 05 235 11 17
10311-16-06 M16X1.5 10 06 235 11 17
10311-18-06 M18X1.5 10 06 235 11 19
10311-22-05 M22X1.5 8 5 27 12 24
10311-22-06 M22X1.5 10 06 26 12 24
10311-22-08 M22X1.5 12 08 26.5 12 24
10311-27-10 M27X1.5 16 10 315 13 30
10311-30-12 M30X1.5 20 12 335 14 32
10311-36-12 M36X2 20 12 35.5 16 38
10311-36-14 M36X2 22 14 35.5 16 38
10311-39-16 M39X2 25 16 39 16 41
10311-45-20 M45X2 32 20 445 20 46
10311-52-24 M52X2 40 24 475 22 55
10311-64-32 M64X2 50 32 525 27 65

e 1 BT T RARE .

Note: 1.For use with braided hoses.

2. s T 9E G g AR 5 2 10312-xx-XX 0

2.If use with spiral hoses, hose fitting series number is 10312-xx-xx.

01




DOMAIN HYDRAULIC HOSE FITTING

% 10411

24°( W ﬁ NHIIMEL24° N HEE 32 R T

u J,“,”_”,”,I_I/ METRIC MALE 24° CONE SEAT L.T.DIN 3853
s1
R 5 i2 4 E Jiz % HOSE BORE G THME &~} DIMENSIONS
PART NO. THREAD E [ %A% DN | #i'; DASH | TUBEO.D.[ A c [ st
10411-12-04 M12X1.5 6 04 6 205 | 10 | 12
10411-14-04 M14X1.5 6 04 8 205 | 10 | 14
10411-14-05 M14X1.5 8 05 8 215 | 10 | 14
10411-16-04 M16X1.5 6 04 10 225 | 11 | 17
10411-16-05 M16X1.5 8 05 10 225 | 11 | 17
10411-16-06 M16X1.5 10 06 10 225 | 11 | 17
10411-18-05 M18X1.5 8 05 12 235 [ 11 | 19
10411-18-06 M18X1.5 10 06 12 225 | 11 | 19
10411-22-06 M22X1.5 10 06 15 245 | 12 | 24
10411-22-08 M22X1.5 12 08 15 26 | 12 | 24
10411-26-08 M26X1.5 12 08 18 265 | 12 | 27
10411-26-10 M26X1.5 16 10 18 27 | 12 | 27
10411-27-10 M27X1.5 16 10 18 32 [ 14 [ 30
10411-30-10 M30X2 16 10 22 29 | 14 | 32
10411-30-12 M30X2 20 12 22 20 | 14 | 32
10411-36-16 M36X2 25 16 28 315 | 14 | 38
10411-45-20 M45X2 32 20 35 36 | 16 | 46
10411-52-24 M52X2 40 24 42 38 | 16 | 55




DOMAIN HYDRAULIC HOSE FITTING

A
C

% 10511

-
247 W ‘TT | | | | NHIIMRL 24° NEMERT
- METRIC MALE 24° CONE SEAT H.T.DIN3853
s1
(=] WAL E i % HOSE BORE G TIME /&I DIMENSIONS

PARTNO. | THREAD E | AFH4: DN | ki* DASH | TUBEO.D.| A c | st
10511-14-04 [ M14X1.5 6 04 6 245 | 12 | 14
10511-16-04 | M16X1.5 6 04 8 265 | 12 | 17
10511-18-04 | M18X1.5 6 04 10 265 | 12 | 19
10511-20-05 | M20X1.5 8 05 12 27 | 12 | 22
10511-20-06 | M20X1.5 10 06 12 265 | 12 | 22
10511-22-05 | M22X1.5 8 05 14 305 | 14 | 24
10511-22-06 | M22X1.5 10 06 14 305 [ 14 | 24
10511-22-08 | M22X1.5 12 08 14 31 | 14 | 24
10511-24-08 | M24X1.5 12 08 16 315 | 14 | 27
10511-30-10 M30X2 16 10 20 345 | 16 | 32
10511-30-12 M30X2 20 12 20 36 | 16 | 32
10511-36-12 M36X2 20 12 25 405 | 18 | 41
10511-36-16 M36X2 25 16 25 415 | 18 | 38
10511-42-16 M42X2 25 16 30 44 | 20 | 46
10511-42-20 M42X2 32 20 30 45 | 20 | 46
10511-52-20 M52X2 32 20 38 50 | 22 | 55

03



DOMAIN HYDRAULIC HOSE FITTING

=)

600 LIJ |

10611

AHSMEL 60° NHEME
J,“,“,M‘I_L METRIC MALE 60° CONE SEAT
St

i 5 i SE JiX_ & HOSE BORE JU s} DIMENSIONS
PART NO. THREAD E [ AFWNIEDN | #r's DASH A C S1
10611-14-04 M14X1.5 6 04 23.5 11 19
10611-14-06 M14X1.5 10 06 25 11 19
10611-16-04 M16X1.5 6 04 27.5 12 22
10611-16-05 M16X1.5 8 05 27.5 12 22
10611-18-06 M18X1.5 10 06 29.5 12 24
10611-22-06 M22X1.5 10 06 30.5 14 27
10611-22-08 M22X1.5 12 08 31 14 27
10611-24-10 M24X1.5 16 10 35 14 30
10611-26-10 M26X1.5 16 10 35 16 32
10611-27-10D M27X1.5 16 10 35 16 32
10611-27-10 M27X2 16 10 37 18 32
10611-30-12D M30X1.5 20 12 38 18 36
10611-30-12 M30X2 20 12 38 18 36
10611-33-16 M33X2 25 16 43 20 46
10611-42-20 M42X2 32 20 46 20 50
10611-45-20 M45X2 32 20 46 20 55
10611-48-24 M48X2 40 24 46 20 55
10611-52-24 M52X2 40 24 46 20 60

04




DOMAIN HYDRAULIC HOSE FITTING

A

C
7 ;W%Nﬁm

i

10711

[E| R 22 I SNR LT 74° SMETE

GB METRIC MALE 74° CONE

S1

5 B4 E k& % HOSE BORE R~ DIMENSIONS
PART NO. THREAD E | A% A1 DN | #3'5 DASH A c S1
10711-10-02 M10X1 4 02 23 | 125 | 14
10711-10-03 M10X1 5 03 23 | 125 | 14
10711-12-03 M12X1.5 5 03 265 | 157 | 14
10711-12-03C M12X1.25 5 03 245 | 14 14
10711-14-04 M14X1.5 6 04 305 [ 18 17
10711-14-06 M14X1.5 10 06 305 | 18 17
10711-16-05 M16X1.5 8 05 315 [ 19 17
10711-16-06 M16X1.5 10 06 31.5 | 19 17
10711-18-06 M18X1.5 10 06 315 [ 19 19
10711-22-08 M22X1.5 12 08 35 | 195 | 24
10711-24-08 M24X1.5 12 08 37 20 27
10711-27-10 M27X1.5 16 10 385|205 | 30
10711-30-12 M30X1.5 20 12 425 | 23 32
10711-30-12E M30X2 20 12 455 | 26 32
10711-33-12 M33X2 20 12 45 26 36
10711-36-14 M36X2 22 14 45 26 38
10711-39-16 M39X2 25 16 48 | 275 [ 41
10711-42-20 M42X2 32 20 52 | 285 | 46
10711-45-20 M45X2 32 20 52 | 285 | 46

TE: 1 RS T MO

Note: 1.For use with braided hoses.

2. W TS AR5 5N 107 12-xx-XX
2.1f use with spiral hoses, hose fitting series number is 10712-xx-xx.

05




DOMAIN HYDRAULIC HOSE FITTING

i} LOCK NUT

QOCOMJ T

S1
10811L 10811L-LN
NHISMED 90° SMEME
METRIC MALE 90° CONE
PART NO, THREADE | /A2 DN | &'y DASH A ] c [ st
10811L-12-04 M12X1.5 6 04 46 | 34 | 17 | 17
10811L-12-04A M12X1 6 04 445 | 325 | 17 | 17
10811L-14-04 M14X1.5 6 04 46 | 34 | 17 | 19
10811L-14-06 M14X1.5 10 06 465 | 34 | 17 | 19
10811L-16-04 M16X1.5 6 04 465 | 34 | 19 | 22
10811L-16-06 M16X1.5 10 06 465 | 34 | 22 | 22
10811L-20-06 M20X1.5 10 6 57 | 40 | 27 | 27
10811L-20-08 M20X1.5 12 08 575 | 40 | 27 | 27
10811L-22-08 M22X1.5 12 08 625 | 45 | 27 | 27

Vi A BIEHT 5T, WS ST 5 "LN", - 41 10811L-12-04LN.
Note: if you are interested to order the fitting with lock nut,please insert suffix "LN" after our part no. for example
10811L-12-04LN.




DOMAIN HYDRAULIC HOSE FITTING

A [
C
—
W - - ] | ]J[ REIMEY O LEZEE
- - BSP MALE O-RING SEAL
S1
(A=) 2 4E K2 & HOSE BORE O JEIE J ~} DIMENSIONS

PART NO. THREADE | ~# N4 DN | #55 DASH O-RING A C S1
12211-04-04 G1/4"X19 6 04 0111 235 11 19
12211-04-06 G1/4"X19 10 06 0111 235 11 19
12211-06-06 G3/8"X19 10 06 0113 26.5 12 22
12211-08-04 G1/2"X14 6 04 0115 335 14 27
12211-08-06 G1/2"X14 10 06 0115 33.5 14 27
12211-08-08 G1/2"X14 12 08 0115 34 14 27
12211-10-10 G5/8"X14 16 10 0910 36 15.5 30
12211-12-10 G3/4"X14 16 10 0119 335 | 155 32
12211-12-12 G3/4"X14 20 12 0119 38 15.5 32
12211-12-16 G3/4"X14 25 16 0119 36 15.5 32
12211-16-16 G1"X11 25 16 0217 445 | 185 41
12211-20-20 G1.1/4"X11 32 20 0222 46 20 50




DOMAIN HYDRAULIC HOSE FITTING

A
C
12611
W a
60°| Wi — - %%‘r?‘ﬂgﬁ 60° Wfﬁﬁ
T IHDH____ BSP MALE 60° CONE SEAT
S1
g B 2 4 E % % HOSE BORE JX <} DIMENSIONS
PART NO. THREAD E | AFKM12 DN | 45’5 DASH A C S1
12611-02-03 G1/8"X28 5 03 22 10 12
12611-04-04 G1/4"X19 6 04 24.5 12 14
12611-06-05 G3/8"X19 8 05 26 | 135 17
12611-06-06 G3/8"X19 10 06 275 | 135 17
12611-06-08 G3/8"X19 12 08 265 | 135 19
12611-08-06 G1/2"X14 10 06 30.5 16 22
12611-08-08 G1/2"X14 12 08 31 16 22
12611-10-08 G5/8"X14 12 08 325 | 175 | 24
12611-10-10 G5/8"X14 16 10 335 | 175 | 24
12611-12-08 G3/4"X14 12 08 355 | 185 | 27
12611-12-10 G3/4"X14 16 10 37 | 185 | 27
12611-12-12 G3/4"X14 20 12 365 | 185 | 27
12611-16-12 G1"X11 20 12 405 | 205 | 36
12611-16-16 G1"X11 25 16 415 | 205 | 36
12611-20-16 G1.1/4"X11 25 16 435 | 205 | 46
12611-20-20 G1.1/4"X11 32 20 445 | 205 | 46
12611-24-20 G.1/2"X11 32 20 49 23 50
12611-24-24 G.1/2"X11 40 24 46 23 50
12611-32-32 G2"X11 50 32 535 | 255 | 65




DOMAIN HYDRAULIC HOSE FITTING

A 12611A
C
ez e HE MBS 60° TS ABISE
60° i L j FRLE & £ AT Sk
T m BSP MALE DOUBLE USE FOR 60°
S1 CONE SEAT OR BONDED SEAL
®r 5 i2 4 E X % HOSE BORE ]! <} DIMENSIONS

PART NO. THREAD E ANFENAE DN | #5355 DASH A (© S1
12611A-02-03 G1/8"X28 5 03 22 10 14
12611A-04-04 G1/4"X19 6 04 24.5 12 19
12611A-04-05 G1/4"X19 8 05 24.5 12 19
12611A-06-05 G3/8"X19 8 05 26 13.5 22
12611A-06-06 G3/8"X19 10 06 28 13.5 22
12611A-06-08 G3/8"X19 12 08 28.5 13.5 22
12611A-08-06 G1/2"X14 10 06 33 16 27
12611A-08-08 G1/2"X14 12 08 33.5 16 27
12611A-08-10 G1/2"X14 16 10 32 16 27
12611A-10-08 G5/8"X14 12 08 35 175 30
12611A-10-10 G5/8"X14 16 10 36 17.5 30
12611A-12-08 G3/4"X14 12 08 36.5 18.5 32
12611A-12-10 G3/4"X14 16 10 37.5 18.5 32
12611A-12-12 G3/4"X14 20 12 375 18.5 32
12611A-16-12 G1"X11 20 12 42.5 20.5 41
12611A-16-16 G1"X11 25 16 43.5 20.5 41
12611A-20-16 G1.1/4"X11 25 16 455 20.5 50
12611A-20-20 G1.1/4"X11 32 20 46.5 20.5 50
12611A-24-24 G.1/2"X11 40 24 49 23 55
12611A-32-32 G2"X11 50 32 545 25.5 70

FE: AP aB R AR 60° HETI S B, ) 7575 A i 3L & 3

09



DOMAIN HYDRAULIC HOSE FITTING

A
C
%%L . -
N - 13011-SP

T ssPTMALE

X = 2 4 E iz % HOSE BORE R~} DIMENSIONS

PART NO. THREAD E | A®HN% DN | #3*5 DASH A C S1
13011-02-03SP R1/8"X28 5 03 22 10 12
13011-02-04SP R1/8"X28 6 04 225 10 12
13011-04-04SP R1/4"X19 6 04 27 14.5 14
13011-04-05SP R1/4"X19 8 05 25 15.4 14
13011-04-06SP R1/4"X19 10 06 27 14.5 17
13011-06-04SP R3/8"X19 6 04 27.5 15 17
13011-06-05SP R3/8"X19 8 05 26.5 15 17
13011-06-06SP R3/8"X19 10 06 27.5 15 17
13011-06-08SP R3/8"X19 12 08 30 15 19
13011-08-06SP R1/2"X14 10 06 34.5 20 22
13011-08-08SP R1/2"X14 12 08 35 20 22
13011-08-10SP R1/2"X14 16 10 38 20 22
13011-08-12SP R1/2"X14 20 12 38 20 27
13011-12-08SP R3/4"X14 12 08 37 20 27
13011-12-10SP R3/4"X14 16 10 38 20 27
13011-12-12SP R3/4"X14 20 12 38.5 20 27
13011-12-16SP R3/4"X14 25 16 39.5 20 32
13011-16-12SP R1"X11 20 12 44 25.5 36
13011-16-16SP R1"X11 25 16 45 25.5 36
13011-20-20SP | R1.1/4"X11 32 20 495 | 26.5 46
13011-24-24SP | R1.1/2"X11 40 24 525 | 265 50
13011-32-24SP R2"X11 40 24 57 30 65
13011-32-32SP R2"X11 50 32 57 30 65




DOMAIN HYDRAULIC HOSE FITTING

077 A

A

W 4= - “ - 14211
' 1
S1
(AIR=) B 4 E ik % HOSE BORE O JE 14 JU 5 DIMENSIONS

PART NO. THREAD E | AFA DN | 45’5 DASH O-RING A B S1
14211-04-04 9/16"X18 6 04 0011 225 | 9.8 17
14211-06-04 11/16"X16 6 04 0012 24 | 11.2 19
14211-06-06 11/16"X16 10 06 0012 24 | 11.2 19
14211-08-06 13/16"X16 10 06 0014 275 | 128 | 22
14211-08-08 13/16"X16 12 08 0014 285 [ 128 | 22
14211-08-10 13/16"X16 16 10 0014 285 | 128 | 22
14211-10-08 1"X14 12 08 0016 325 | 155 | 27
14211-10-10 1"X14 16 10 0016 335 | 155 | 27
14211-12-08 1.3/16"X12 12 08 0018 35.5 17 32
14211-12-10 1.3/16"X12 16 10 0018 36 17 32
14211-12-12 1.3/16"X12 20 12 0018 36.5 17 32
14211-16-12 1.7/16"X12 20 12 0021 37 | 175 38
14211-16-16 1.7/16"X12 25 16 0021 385 | 17.5 38
14211-20-20 1.11/16"X12 32 20 0025 415 | 175 | 46
14211-24-24 2"X12 40 24 0029 46.5 | 175 55

11




DOMAIN HYDRAULIC HOSE FITTING

15611

mHEE IMRLL
NPT MALE

X 5 2 4 E it % HOSE BORE R~} DIMENSIONS

PART NO. THREAD E AFEANFE DN [ #55 DASH A © S1
15611-02-03 71/8"X27 5 03 21.5 | 10.5 12
15611-02-04 Z21/8"X27 6 04 225 | 10.5 12
15611-04-03 Z1/4"X18 5 03 27 15 17
15611-04-04 Z1/4"X18 6 04 28 15 17
15611-04-05 Z1/4"X18 8 05 28 15 17
15611-04-06 Z1/4"X18 10 06 28 15 17
15611-06-04 Z3/8"X18 6 04 28 16 19
15611-06-05 73/8"X18 8 05 29 16 19
15611-06-06 73/8"X18 10 06 29 16 19
15611-06-08 Z3/8"X18 12 08 30.5 16 19
15611-08-06 Z1/2"X14 10 06 34 | 195 22
15611-08-08 Z1/2"X14 12 08 345 | 19.5 22
15611-08-10 Z1/2"X14 16 10 355 | 19.5 22
15611-12-08 Z3/4"X14 12 08 375 | 19.5 27
15611-12-10 Z3/4"X14 16 10 375 | 19.5 27
15611-12-12 73/4"X14 20 12 385 | 19.5 27
15611-12-16 Z3/4"X14 25 16 39.5 | 19.5 32
15611-16-10 Z1"X11.5 16 10 45 | 255 36
15611-16-12 Z1"X11.5 20 12 45 | 255 36
15611-16-16 Z1"X11.5 25 16 465 | 255 36
15611-20-16 Z21.1/4"X11.5 25 16 49 | 265 46
15611-20-20 Z21.1/4"X11.5 32 20 50.5 | 26.5 46
15611-24-24 Z71.1/2"X11.5 40 24 51 | 275 50
15611-32-32 Z2"X11.5 50 32 55 | 275 65

12




DOMAIN HYDRAULIC HOSE FITTING

A
C
j/ﬂﬁ%ﬁﬁm

£ SAE SMELH O FZE

16011

- T SAE O-RING MALE
ISO 11926--SAE J1926
S1
N = g 4LE %X # HOSE BORE O JE I JU 5} DIMENSIONS

PART NO. THREAD E NN AR DN tn'5 DASH O RING A © S1
16011-04-04 7/16"X20 6 04 0904 21.5 9.1 14
16011-05-04 1/2"X20 6 04 0905 21.5 9.1 17
16011-06-05 9/16"X18 8 05 0906 22.5 9.9 17
16011-06-06 9/16"X18 10 06 0906 22.5 9.9 17
16011-08-06 3/4"X16 10 06 0908 23.5 11.1 22
16011-08-08 3/4"X16 12 08 0908 24 11.1 22
16011-10-08 7/8"X14 12 08 0910 30 12.7 27
16011-10-10 7/8"X14 16 10 0910 31 12.7 27
16011-12-10 1.1/16"X12 16 10 0912 34 15.1 32
16011-12-12 1.1/16"X12 20 12 0912 34 15.1 32
16011-16-16 1.5/16"X12 25 16 0916 36 15.1 38

e 1 EIRASH T M .
Note: 1.For use with braided hoses.

240505 H T PSS 0k 16012-xx-xX.
2.If use with spiral hoses, hose fitting series number is 16012-xx-xx.

13




DOMAIN HYDRAULIC HOSE FITTING

A ‘

Tz e o
O 5] JIC SMBLL 74° SMET

74 ! - T J( JIC MALE 74° CONE

; i : ISO 8434-2--SAE J514

S1
5 2 4 E iz & HOSE BORE R s DIMENSIONS
PART NO. THREAD E NFRIN4E DN 5 DASH A © S1
16711-04-03 7/16"X20 5 03 26 14 12
16711-04-04 7/16"X20 6 04 26.5 14 12
16711-05-04 1/2"X20 6 04 26.5 14 14
16711-05-05 1/2"X20 8 05 26.5 14 14
16711-05-06 1/2"X20 10 06 26.5 14 17
16711-06-04 9/16"X18 6 04 26.5 14.1 17
16711-06-05 9/16"X18 8 05 26.5 14.1 17
16711-06-06 9/16"X18 10 06 26.5 14.1 17
16711-08-06 3/4"X16 10 06 31.5 16.7 22
16711-08-08 3/4"X16 12 08 32 16.7 22
16711-10-06 7/8"X14 10 06 33.5 19.3 24
16711-10-08 7/8"X14 12 08 34 19.3 24
16711-10-10 7/8"X14 16 10 35 19.3 24
16711-12-08 1.1/16"X12 12 08 38.5 21.9 30
16711-12-10 1.1/16"X12 16 10 39.5 21.9 30
16711-12-12 1.1/16"X12 20 12 40 21.9 30
16711-12-16 1.1/16"X12 25 16 42 21.9 30
16711-14-10 1.3/16"X12 16 10 41.5 22.6 32
16711-14-12 1.3/16"X12 20 12 40.5 22.6 32
16711-16-12 1.5/16"X12 20 12 43 23.1 36
16711-16-16 1.5/16"X12 25 16 43.5 23.1 36
16711-20-16 1.5/8"X12 25 16 47 24.3 46
16711-20-20 1.5/8"X12 32 20 47.5 24.3 46
16711-24-20 1.7/8"X12 32 20 53 27.5 50
16711-24-24 1.7/8"X12 40 24 53 27.5 50
16711-32-32 2.1/2"X12 50 32 62 33.9 65
e PR B R Y et I R TR G = 20075 H T 96 AR 5 U 167 12-x%-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 167 12-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

—C%yt 16711L
4 U L f 41 JIC SMBS 747 SMET

JIC MALE 74° CONE

S1
5 2 o4 E iz % HOSE BORE JU~F DIMENSIONS

PART NO. THREADE | AFM4#%DN | 455 DASH A c | sf
16711L-04-04 7/16"X20 6 04 43 | 305 | 17
16711L-05-04 1/2"X20 6 04 43 | 305 | 19
16711L-05-05 1/2"X20 8 05 43 | 305 | 19
16711L-06-04 9/16"X18 6 04 47 | 325 | 22
16711L-06-05 9/16"X18 8 05 47 | 325 | 22
16711L-06-06 9/16"X18 10 06 47 | 325 | 22
16711L-08-06 3/4"X16 10 06 51 | 365 | 24
16711L-08-08 3/4"X16 12 08 515 | 365 | 24
16711L-10-06 7/8"X14 10 06 56.5 | 40 | 30
16711L-10-08 7/8"X14 12 08 57 | 40 | 30
16711L-10-10 7/8"X14 16 10 58 | 40 | 30
16711L-12-08 1.1/16"X12 12 08 63 | 445 | 36
16711L-12-10 1.1/16"X12 16 10 64 | 445 | 36
16711L-12-12 1.1/16"X12 20 12 64 | 445 | 36
16711L-16-12 1.5/16"X12 20 12 66 | 44.5 | 41
16711L-16-16 1.5/16"X12 25 16 67 | 445 | 41
16711L-20-16 1.5/8"X12 25 16 70.5 | 45.7 | 50
16711L-20-20 1.5/8"X12 32 20 712 | 457 | 50
16711L-24-20 1.7/8"X12 32 20 715 | 46 | 55
16711L-24-24 1.7/8"X12 40 24 715 | 46 | 55

15



DOMAIN HYDRAULIC HOSE FITTING

A
—/;C 7 17811
% e
o0cl Nl 24 SAE SMEBLL 90° SMETE
]]| | SAE MALE 90° CONE
| ' SAE J513
s1
® = i 5 E 4 HOSE BORE X~} DIMENSIONS
PART NO. THREAD E NFEP 1S DN Fr'5 DASH A C S1
17811-04-04 7/16"X20 6 04 25.5 12.7 12
17811-05-05 1/2"X20 8 05 27 14.2 14
17811-06-06 5/8"X18 10 06 28.5 15.7 17
17811-08-08 3/4"X16 12 08 34 19 22
17811-10-10 7/8"X14 16 10 38.5 22.4 24
17811-12-12 1.1/16"X14 20 12 44 25.4 30
L B S H TRV 2. WIFE FH T 953 AR 5 00 17812-XX-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 17812-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

A
' ///)% 18611

m 600 1 [ 0y kY
I L A A A $ISMELL 60° SN
JIS METRIC MALE 60°CONE SEAT

B s1

£ 5 L = i % HOSE BORE &~} DIMENSIONS
PART NO. THREAD E | AFP4 DN Fi'5 DASH A B S1
18611-14-04 M14X1.5 6 04 29.5 17 17
18611-16-04 M16X1.5 6 04 30.5 18 17
18611-16-06 M16X1.5 10 06 30.5 18 17
18611-18-06 M18X1.5 10 06 30.5 18 19
18611-20-08 M20X1.5 12 08 35 20 22
18611-22-08 M22X1.5 12 08 35.5 20 24
18611-24-10 M24X1.5 16 10 39.5 21.5 27
18611-30-12 M30X1.5 20 12 45.5 26 32
18611-33-16 M33X1.5 25 16 50.5 30 36
18611-36-20 M36X1.5 32 20 56.5 33 38
18611-42-24 M42X1.5 40 24 59.5 36 46

TEe AL RRARS T TSRS . 2. 1 T 95 AR 5 550K 18612-30¢-xX

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 18612-xx-xx.

17



DOMAIN HYDRAULIC HOSE FITTING

A ‘
7
\ W 19611
8@@ :” I j B AZEHI MRS 60° SMEH

JIS BSPP MALE 60° CONE SEAT

S1
£ 5 A = Jii % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E | AFRA42 DN | #3'5 DASH A B S1
19611-04-04 G1/4"X19 6 04 29 16 17
19611-06-06 G3/8"X19 10 06 31 18 19
19611-08-08 G1/2"X14 12 08 355 | 20 | 22
19611-12-12 G3/4"X14 20 12 41 22 30
19611-16-16 G1"X11 25 16 455 | 24 36
e L RPRS TR . 2. il T 2R 5 AR S 0N 19612-X%-XX

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 19612-xx-xx.

18




DOMAIN HYDRAULIC HOSE FITTING

20011-ST

NHABY S EKE

METRIC FEMALE WATERWASH INSERTS

X 5 12 49 E ik % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E AFRP 12 DN Fr'5 DASH A d D
20011-22-03ST M22X1.5 5 03 24.5 14 34.5
20011-22-04ST M22X1.5 6 04 25 14 34.5
20011-22-05ST M22X1.5 8 05 25 14 34.5
20011-22-06ST M22X1.5 10 06 25 14 34.5
C
s % 10611
60° | |
niiiiin. ABINEL 600 T
S1 METRIC MALE60° CONE SEAT
X 5 2 4 E ik % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E AFRPAE DN Fr5 DASH A C S1
10611-22-04 M22X1.5 6 04 30.5 14 27
10611-22-05 M22X1.5 8 05 30.5 14 27
10611-22-06 M22X1.5 10 06 30.5 14 27
A. _B
7K M-R
60°| LU/ | [ | w  |e0° . o .
[ NHIIMREL60° RHE
METRIC MALE 60° SEAT
S1
fo= 12 4. THREAD R <} DIMENSIONS
PART NO. E F A B L S1
1M-22R M22X1.5 M22X1.5 14 14 36 24

S AOR T T R
STANDARD O-RING NBR

19




DOMAIN HYDRAULIC HOSE FITTING

NHEIRIEL S EKREE K

20011-T

METRIC FEMALE WATERWASH INSERTS

= B OZE ik &% HOSE BORE O Ll U s} DIMENSIONS

PART NO. THREAD E AP A4 DN Fr'5 DASH | O RING A d D
20011-22-04T M22X1.5 6 04 010.0X2.0| 32.7 14 34.5
20011-22-05T M22X1.5 8 05 010.0X2.0| 32.7 14 34.5
20011-22-06T M22X1.5 10 06 010.0X2.0| 32.7 14 34.5

20



DOMAIN HYDRAULIC HOSE FITTING

CcC A
N
Ll
S2
UNGHIISEE3 8 3]
20111 20111-T METRIC FEMALE MULTISEAL
(A2 = 4LE Jki % HOSE BORE JU 5} DIMENSIONS
PART NO. THREAD E | APFKHM4EDN [ #5'5 DASH A C S2
20111-10-03 M10X1 5 03 18 2.5 14
20111-10-04 M10X1 6 04 18 2.5 14
20111-12-04 M12X1.5 6 04 18.5 4 17
20111-12-05 M12X1.5 8 05 18.5 4 17
20111-14-04 M14X1.5 6 04 19.5 4.5 19
20111-14-05 M14X1.5 8 05 19.5 4.5 19
20111-16-04 M16X1.5 6 04 19.5 4.5 22
20111-16-05 M16X1.5 8 05 20 4.5 22
20111-16-06 M16X1.5 10 06 20 4.5 22
20111-18-05T M18X1.5 8 05 21.5 4 24
20111-18-06 M18X1.5 10 06 21.5 4 24
20111-18-08 M18X1.5 12 08 22 4 24
20111-20-06T M20X1.5 10 06 20.5 55 24
20111-20-08 M20X1.5 12 08 23 8.5 27
20111-22-06T M22X1.5 10 06 23 5 27
20111-22-08 M22X1.5 12 08 23.5 5 27
20111-22-10 M22X1.5 16 10 24.5 5 27
20111-24-08T M24X1.5 12 08 22 8.5 30
20111-24-10 M24X1.5 16 10 26 5 30
20111-27-08DT M27X1.5 12 08 23 515 32
20111-27-10DT M27X1.5 16 10 26 55 32
20111-27-12D M27X1.5 20 12 26 5.5 32
20111-27-10T M27X2 16 10 26 7 32
20111-30-12D M30X1.5 20 12 26.5 6 36
20111-30-12 M30X2 20 12 26.5 7 36
20111-36-12T M36X2 20 12 26 7 41
20111-36-14T M36X2 22 14 26 7 41
20111-39-14T M39X2 22 14 28.5 7 46
20111-39-16T M39X2 25 16 29.5 7 46
20111-42-16T M42X2 25 16 30 8.5 50
20111-45-20T M45X2 32 20 31.5 8.5 55
20111-52-20T M52X2 32 20 &3 9 60
20111-52-24T M52X2 40 24 33 9 60
20111-64-32T M64X2 50 32 B85 14 75
e LRSS H TR . 2. 0% T 2RSS BUh 20112-x%-XX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20112-xx-xx.

21



DOMAIN HYDRAULIC HOSE FITTING

20141 20141-T
45° NI SRSEKE
45° METRIC FEMALE MULTISEAL
5 2 4 E ik %% HOSE BORE R~ DIMENSIONS
PART NO. THREAD E | AF W4 DN F5'5 DASH A C H S2
20141-10-03 M10X1 5 03 41.1 25 | 20.7 14
20141-10-04 M10X1 6 04 432 | 25 | 215 14
20141-12-03 M12X1.5 5 03 40.9 4 21.2 17
20141-12-04 M12X1.5 6 04 43 4 22 17
20141-14-04 M14X1.5 6 04 434 | 45 [ 213 19
20141-14-05 M14X1.5 8 05 455 | 45 | 222 19
20141-16-04 M16X1.5 6 04 437 | 45 [ 214 22
20141-16-05 M16X1.5 8 05 458 | 45 | 225 22
20141-16-06 M16X1.5 10 06 474 | 45 | 241 22
20141-18-05T M18X1.5 8 05 46.8 4 22.6 24
20141-18-06 M18X1.5 10 06 48.5 4 24.2 24
20141-18-08 M18X1.5 12 08 52.2 4 25.7 24
20141-20-06T M20X1.5 10 06 482 | 55 | 23.9 27
20141-20-08 M20X1.5 12 08 62.1 55 | 27.2 27
20141-22-06T M22X1.5 10 06 58.4 5 25.7 27
20141-22-08 M22X1.5 12 08 62.1 5 27.2 27
20141-24-08T M24X1.5 12 08 61.1 55 | 26.1 30
20141-24-10 M24X1.5 16 10 75.4 5 29.6 30
20141-27-10DT M27X1.5 16 10 744 | 55 | 29.6 32
20141-27-10T M27X2 16 10 744 | 55 | 29.6 32
20141-30-12D M30X1.5 20 12 80.9 6 33.5 36
20141-30-12 M30X2 20 12 80.9 6 33.5 36
20141-36-14T M36X2 22 14 83 7 13264 41
20141-39-16T M39X2 25 16 88.2 7 [3395] 46
20141-45-20T M45X2 32 20 99.1 8.5 | 384 55
20141-52-24T M52X2 40 24 114.1 9 43.4 60

Ve 1 RS T

Note: 1.For use with braided hoses.

2. Wi TS A5 50N 20142-xx-xX

2.1f use with spiral hoses, hose fitting series number is 20142-xx-xx.

22



DOMAIN HYDRAULIC HOSE FITTING

I
Oy |
£ ]2
90° A NEELEKE
20191 20191-T 90° METRIC FEMALE MULTISEAL
(A=) L g Kk & HOSE BORE JX <} DIMENSIONS
PART NO. THREAD E AP AL DN #r'5 DASH A C H S2
20191-10-03 M10X1 5 03 27 2.5 35.5 14
20191-12-04 M12X1.5 6 04 30 4 37.5 17
20191-14-04 M14X1.5 6 04 30 4.5 38 19
20191-14-05 M14X1.5 8 05 33 4.5 41 19
20191-16-04 M16X1.5 6 04 30 4.5 38.5 19
20191-16-05 M16X1.5 8 05 33 4.5 41.5 22
20191-16-06 M16X1.5 10 06 35.3 4.5 43.8 22
20191-18-05T M18X1.5 8 05 33 4 43 24
20191-18-06 M18X1.5 10 06 35.3 4 45.3 24
20191-18-08 M18X1.5 12 08 40.5 4 50.5 24
20191-20-06T M20X1.5 10 06 35.3 5.5 43.8 24
20191-20-08 M20X1.5 12 08 41 5.5 52 27
20191-22-06T M22X1.5 10 06 35.8 5 76.8 27
20191-22-08 M22X1.5 12 08 41 5 52.5 27
20191-24-08T M24X1.5 12 08 41 5.5 51 30
20191-24-10 M24X1.5 16 10 58 5 58.5 30
20191-27-10DT M27X1.5 16 10 56 5.5 55.5 32
20191-27-10T M27X2 16 10 56 5.5 55.5 32
20191-30-12D M30X1.5 20 12 67.5 6 68.5 36
20191-30-12 M30X2 20 12 67.5 6 68.5 36
20191-36-12T M36X2 20 12 65.5 7 68 41
20191-36-14T M36X2 22 14 71.2 7 69 41
20191-39-16T M39X2 25 16 76.7 7 73.5 46
20191-45-20T M45X2 32 20 91.5 8.5 85 55
20191-52-24T M52X2 40 24 109.4 9 100 60
20191-64-32T M64X2 50 32 131.75] 14 122.3 75
e BRI T R . 1. 2. ili I T4 S B AR S B 20192-XX-XX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20192-xx-xx.

23



DOMAIN HYDRAULIC HOSE FITTING

C A C A
L w4
jMilLlLlLlLL
82
E R Hl AZ s FE |
GB METRIC FEMALE FLAT SEAT
20211 20211-T %3 REF. GB/T 9065.3
i = B2 4 E B % HOSE BORE J\ ~} DIMENSIONS
PART NO. THREAD E S FE 42 DN tn'5 DASH A © S2
20211-10-02 M10X1 4 02 14 6 14
20211-12-03 M12X1.25 5 03 14 8 17
20211-14-04 M14X1.5 6 04 15.5 8.5 19
20211-14-05 M14X1.5 8 05 15.5 8.5 19
20211-16-04 M16X1.5 6 04 16.5 8 22
20211-16-05 M16X1.5 8 05 16.5 8 22
20211-16-06 M16X1.5 10 06 16.5 8 22
20211-18-05T M18X1.5 8 05 17.5 8 24
20211-18-06 M18X1.5 10 06 17.5 8 24
20211-20-06T M20X1.5 10 06 16 10 24
20211-20-08 M20X1.5 12 08 18.5 10 27
20211-22-06T M22X1.5 10 06 16 10 27
20211-22-08 M22X1.5 12 08 18.5 10 27
20211-22-10 M22X1.5 16 10 19.5 10 27
20211-24-08T M24X1.5 12 08 16.5 11 30
20211-24-10 M24X1.5 16 10 20.5 10.5 30
20211-27-08T M27X1.5 12 08 18.5 10 32
20211-27-10T M27X1.5 16 10 19.5 10 32
20211-30-12 M30X1.5 20 12 21.5 11 36
20211-33-14 M33X2 22 14 21.5 13 41
20211-36-12T M36X2 20 12 20 13 41
20211-36-14T M36X2 22 14 20 13 41
20211-39-16T M39X2 25 16 23.5 13 46
20211-42-20 M42X2 32 20 26 15 50
20211-45-20T M45X2 32 20 25 15 55
20211-52-24T M52X2 40 24 25 17 60
20211-60-28T M60X2 45 28 26 20 70
20211-64-32T M64X2 50 32 26 23 75
Ve A FPCE TSRS 2. 40175 F TR 883045 X 508 202124300

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20212-xx-xx.

24



DOMAIN HYDRAULIC HOSE FITTING

anl@)
&
45° NI RS |
45° METRIC FEMALE FLAT SEAT
20241 20241-T %3 REF. GB/T 9065.3
;£ = 12 24 E Kk % HOSE BORE K s} DIMENSIONS

PART NO. THREAD E ANFRANE DN 15 DASH A © H S2
20241-14-04 M14X1.5 6 04 40.5 8.5 18.5 19
20241-14-05 M14X1.5 8 05 42.7 8.5 19.3 19
20241-16-05 M16X1.5 8 05 44 4 8.5 20 22
20241-18-06 M18X1.5 10 06 457 8 21.4 24
20241-22-08 M22X1.5 12 08 58.9 10 24 27
20241-27-10T M27X1.5 16 10 68.6 10 24.3 32
20241-30-12 M30X1.5 20 12 78.1 11 30 36
20241-36-12T M36X2 20 12 75 13 27.5 41
20241-36-14T M36X2 22 14 77.3 13 27 41
20241-36-16 M36X2 25 16 85.7 13 31.5 41
20241-39-16T M39X2 25 16 83.9 13 29.7 46
20241-42-20 M42X2 32 20 97.3 15 36.6 50
20241-45-20T M45X2 32 20 94.5 15 33.8 55
20241-52-20T M52X2 32 20 94.5 17 33.8 60
20241-52-24T M52X2 40 24 108.5 17 37.7 60
20241-60-28T M60X2 45 28 118.7 20 43.6 70
20241-64-32T M64X2 50 32 127.8 23 45.6 75

W 1L RBPRESH TR . 2. T H TSk F A S 2l 20242-xx-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20242-xx-xx.

25



DOMAIN HYDRAULIC HOSE FITTING

90° A Il MRS T H
90° METRIC FEMALE FLAT SEAT
20291 20291-T %% REF. GB/T 9065.3
(AVIR=2 2 4 E ik % HOSE BORE K~ DIMENSIONS

PART NO. THREAD E NFERN4E DN 5 DASH A © H S2
20291-12-02 M12X1.25 4 02 26.5 8 30.5 17
20291-12-04 M12X1.25 6 04 30 8 33.5 17
20291-14-04 M14X1.5 6 04 30 8.5 34 19
20291-14-05 M14X1.5 8 05 33 8.5 37 19
20291-16-04 M16X1.5 6 04 30 8 35 22
20291-16-05 M16X1.5 8 05 34 8 38 22
20291-16-06 M16X1.5 10 06 35.3 8 40.3 22
20291-18-05T M18X1.5 8 05 33 8 39 24
20291-18-06 M18X1.5 10 06 35.75 8 41.3 24
20291-22-08 M22X1.5 12 08 41 10 48 27
20291-22-10 M22X1.5 16 10 57.5 10 53 27
20291-24-08T M24X1.5 12 08 41 11 455 30
20291-27-04T M27X1.5 6 04 30 10 35.5 32
20291-27-08T M27X1.5 12 08 41 10 46 32
20291-27-10T M27X1.5 16 10 56 10 51 32
20291-30-12 M30X1.5 20 12 66.2 11 63.5 36
20291-33-14 M33X2 22 14 71.2 13 65 41
20291-36-14T M36X2 22 14 71.2 13 61 41
20291-36-16 M36X2 25 16 76.7 13 70 41
20291-39-16T M39X2 25 16 76.7 13 67.5 46
20291-42-20 M42X2 32 20 91.5 15 82.5 50
20291-45-20T M45X2 32 20 91.5 15 78.5 55
20291-52-20T M52X2 32 20 91.5 17 78.5 60
20291-52-24T M52X2 40 24 109.4 17 92 60
20291-60-28T M60X2 45 28 119.9 20 106.5 70
20291-64-32T M64X2 50 32 130.95 23 113.3 75

VEs 1. 2P AR RS 2. 175 T 1 o 25 g 20292-x00x.

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20292-xx-xx.

26



DOMAIN HYDRAULIC HOSE FITTING

C A
= P rrrrrrrrrrrr
2 24wl |
S2
20411 20411-T
AHIRIEL 24° #HE O RER AT
METRIC FEMALE 24° CONE O-RING L.T.
ISO 12151-2--DIN 3865
= i 4 E ik & HOSE BORE BT O JE1 JX I DIMENSIONS
PARTNO. | THREADE | 2AFkP44£DN | #5%5 DASH [ TUBE O.D.| ORING A C S2
20411-12-04 M12X1.5 6 04 6 004.5X1.5| 26 1 17
20411-14-04 M14X1.5 6 04 8 006.5X1.5 | 27.5 2 19
20411-14-06 M14X1.5 10 06 8 006.5X1.5 | 27.5 2 19
20411-16-04 M16X1.5 6 04 10 008.0X1.5| 28 2 22
20411-16-05 M16X1.5 8 05 10 008.0X1.5 | 28 2 22
20411-16-06 M16X1.5 10 06 10 008.0X1.5 | 28 2 22
20411-18-05T | M18X1.5 8 05 12 010.0X1.5| 245 [ 1.5 22
20411-18-06 M18X1.5 10 06 12 010.0X1.5 | 29 2.5 24
20411-18-08 M18X1.5 12 08 12 010.0X1.5| 295 | 25 24
20411-22-05T | M22X1.5 8 05 15 012.0X2.0 | 265 3 27
20411-22-06T | M22X1.5 10 06 15 012.0X2.0 | 26.5 3 27
20411-22-08 M22X1.5 12 08 15 012.0X2.0 | 32 2.5 27
20411-26-10 M26X1.5 16 10 18 015.0X2.0 | 345 [ 2.5 32
20411-26-12 M26X1.5 20 12 18 015.0X2.0 | 35 2.5 32
20411-27-10T | M27X1.5 16 10 18 015.0X2.0 | 35 2.1 32
20411-27-12 M27X1.5 20 12 18 015.0X2.0 | 35 2.5 32
20411-30-10T M30X2 16 10 22 020.0X2.0 | 31 3.8 36
20411-30-12 M30X2 20 12 22 020.0X2.0 | 39 4 36
20411-36-12T M36X2 20 12 28 026.0X2.0 | 33 4.5 46
20411-36-14T M36X2 22 14 28 026.0X2.0 | 33 4.5 46
20411-45-16T M45X2 25 16 35 032.0X25| 37 4 55
20411-45-20T M45X2 32 20 35 032.0X2.5 | 37.5 4 55
20411-52-20T M52X2 32 20 42 038.0X2.5 | 38.5 4 60
20411-52-24T M52X2 40 24 42 038.0X2.5| 38.5 4 60
VE: 1 BB T AR 2. 1 TR 1R 5 550k 20412-00xK.

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20412-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

20441 20441-T

45° NHIRIRG 24° T O BB RS
45° METRIC FEMALE 24° CONE O-RING L.T.
ISO 12151-2——DIN 3865

i 5 B 4LE K & HOSE BORE B FIME O ¥ K J <} DIMENSIONS

PART NO. THREAD E | A%xH 42 DN | #55 DASH | TUBE O.D.] O RING A C H S2
20441-14-04 M14X1.5 6 04 8 006.5X1.5 | 49 2 27 19
20441-16-05 M16X1.5 8 05 10 008.0X1.5 (515 2 [28.2]| 22
20441-16-06 M16X1.5 10 06 10 008.0X1.5 (534 2 [29.2]| 22
20441-18-05T M18X1.5 8 05 12 010.0X1.5 | 46.6| 1.5 | 23.2 | 22
20441-18-06 M18X1.5 10 06 12 010.0X1.5 | 54.2| 25 1299 | 24
20441-22-05T M22X1.5 8 05 15 012.0X2.0 [46.5] 3 [ 23.2]| 27
20441-22-06T M22X1.5 10 06 15 012.0X2.0 {485 3 [24.2]| 27
20441-22-08 M22X1.5 12 08 15 012.0X2.0 | 68.1] 2.5 | 33.2 | 27
20441-26-08T M26X1.5 12 08 18 015.0X2.0 | 60.6| 2.1 | 25.7 | 32
20441-26-10 M26X1.5 16 10 18 015.0X2.0 | 80.7| 2.5 |1 359 | 32
20441-26-12 M26X1.5 20 12 18 015.0X2.0 | 86.9] 2.5 |1 39.5] 32
20441-27-10T M27X1.5 16 10 18 015.0X2.0 | 72 | 21 | 27.7 | 32
20441-27-12 M27X1.5 20 12 18 015.0X2.0 | 86.9] 2.5 |1 39.5] 32
20441-30-10T M30X2 16 10 22 020.0X2.0 | 73.5] 3.8 | 28.6 | 36
20441-30-12 M30X2 20 12 22 020.0X2.0 ({89.1] 4 [41.7] 36
20441-36-12T M36X2 20 12 28 026.0X2.0 | 79.5]| 45 | 32.1| 46
20441-36-14T M36X2 22 14 28 026.0X2.0 | 81.9] 45 | 31.6 | 46
20441-45-20T M45X2 32 20 35 032.0X2.5199.8] 4 ]39.1] 55
20441-52-20T M52X2 32 20 42 038.0X2.5]| 102| 4 ]39.8] 60
20441-52-24T M52X2 40 24 42 038.0X2.5 |114.5| 4 | 43.7 ] 60

e 1R PRS T gy . 2. W TGRS BC 20442-XX-XX

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20442-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

T
oy
20491 20491-T
90° NHIAERL 24° T O BB AT
90° METRIC FEMALE 24° CONE O-RING L.T.
ISO 12151-2--DIN 3865
5 IR AE J&z_# HOSE BORE BriME | O & JU ~} DIMENSIONS

PART NO. |THREADE | 2A#k442 DN | #x'> DASH |TUBE O.D. [ O RING A | C | H]| s2
20491-12-03 | M12X1.5 5 03 6 004.5X15 | 265| 1 [ 35 | 17
20491-12-04 | M12X1.5 6 04 6 004.5X1.5 | 30 | 1 [445] 17
20491-14-04 | M14X1.5 6 04 8 006.5X1.5 | 30 | 2 [ 38 | 19
20491-16-04 | M16X1.5 6 04 10 008.0X15 | 30 [ 2 [ 39 | 22
20491-16-05 | M16X1.5 8 05 10 0080Xx15 | 33 | 2 [ 42 | 22
20491-16-06 | M16X1.5 10 06 10 008.0X1.5 | 353 | 2 [518] 22
20491-18-05T | M18X1.5 8 05 12 010.0X1.5 | 33 | 1.5 [425| 22
20491-18-06 | M18X1.5 10 06 12 010.0X1.5 | 35.3 [ 2.5 [443 | 24
20491-22-06T | M22X1.5 10 06 15 012.0X2.0 | 353 | 3 [448] 27
20491-22-08 | M22X1.5 12 08 15 012.0x2.0 | 41 [ 25 | 52 | 27
20491-26-08T | M26X1.5 12 08 18 015.0x2.0 | 41 [ 21 [ 51 | 32
20491-26-10 | M26X1.5 16 10 18 015.0X2.0 | 56 | 2.5 [585 | 32
20491-26-12 | M26X1.5 20 12 18 015.0X2.0 | 64.9 | 25 | 77 | 32
20491-27-10T_| M27X1.5 16 10 18 015.0X2.0 | 56 | 2.1 [549 | 32
20491-27-12 | M27X1.5 20 12 18 015.0X2.0 | 64.9| 25 | 77 | 32
20491-30-10T | M30X2 16 10 22 020.0X2.0 | 56 | 3.8 [57.2 | 36
20491-30-12 M30X2 20 12 22 020.0X2.0 | 655| 4 | 63 | 36
20491-36-12T | M36X2 20 12 28 026.0X2.0 | 65.5 | 4.5 [66.5 | 46
20491-36-14T | M36X2 22 14 28 026.0X2.0 | 71.2 | 45 [67.5| 46
20491-45-16T | M45X2 25 16 35 032.0x25 | 76.7| 4 [ 75 | 55
20491-45-20T | M45X2 32 20 35 032.0x25 | 915| 4 | 86 | 55
20491-52-20T | M52X2 32 20 42 0380x25 | 93 | 4 | 87 | 60
20491-52-24T | M52X2 40 24 42 038.0x2.5 |109.4] 4 [100.5] 60
1 RPRE I TR . 2. it ) TSR 1R 5 50k 20492-300xx.

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20492-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

C A
C A
24° 24°
20511 20511-T
90° AHINIEL 24° H#HH OB ERT
90° METRIC FEMALE 24° CONE O-RING
H.T.ISO 12151-2--DIN 3865
5 12 4L E Jii & HOSE BORE BTz | O K JU s DIMENSIONS

PART NO. |THREAD E |/ #1442 DN | 455 DASH [TUBE O.D.| O RING A C S2
20511-14-04 | M16X1.5 6 04 6 004.5X1.5 29 1.5 19
20511-16-04 | M16X1.5 6 04 8 006.5X1.5 29 1.5 22
20511-16-05 | M16X1.5 8 05 8 006.5X1.5 29 1.5 22
20511-18-04T | M18X1.5 6 04 10 008.0X1.5| 255 1.5 22
20511-18-06 | M18X1.5 10 06 10 008.0X1.5 29 2 24
20511-20-06T | M20X1.5 10 06 12 010.0X1.5| 26.5 2.5 24
20511-20-08 | M20X1.5 12 08 12 010.0X1.5| 315 2.5 27
20511-22-06T | M22X1.5 10 06 14 011.0X2.0[ 26.5 3 27
20511-22-08 | M22X1.5 12 08 14 011.0X2.0[ 315 2.5 27
20511-24-06T | M24X1.5 10 06 16 013.0X2.0 27 3 30
20511-24-08T | M24X1.5 12 08 16 013.0X2.0[ 275 3 30
20511-30-10T | M30X2 16 10 20 016.3X2.4 33 2.5 36
20511-30-12 M30X2 20 12 20 016.3X2.4 39 3 36
20511-36-12T | M36X2 20 12 25 020.3X2.4 35 3.2 46
20511-36-14T | M36X2 22 14 25 020.3X2.4 34 3.2 46
20511-42-12T | M42X2 20 12 30 025.3X2.4| 375 3.9 50
20511-42-16T | M42X2 25 16 30 025.3X2.4 | 385 3.9 50
20511-52-20T | M52X2 32 20 38 033.3X2.4| 415 4.5 60
20511-52-24T |  M52X2 40 24 38 033.3X2.4 | 415 4.5 60

Fe A RPARS T TGRS . 2. 1 FH TSRS AR 5 R 2051 2-x-%X

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20512-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

20541 20541-T

45° NHIRIRE24° T O EEE RS
45° METRIC FEMALE 24° CONE O-RING H.T.
ISO 12151-2--DIN 3865

= 12 2 E & % HOSE BORE | i ¥4z [ O JEM JU I DIMENSIONS
PART NO. |THREAD E| A% DN| b5 DASH [TUBE O.D. ORING | A © H S2
20541-14-04 | M16X1.5 6 04 6 004.5X1.5| 434 | 15 | 213 | 19
20541-16-04 | M16X1.5 6 04 8 006.5X1.5| 444 | 1.5 | 223 | 22
20541-16-05 | M16X1.5 8 05 8 006.5X1.5| 46.6 | 1.5 | 232 | 22
20541-18-04T | M18X1.5 6 04 10 |008.0X1.5| 43.7 | 15 | 216 | 22
20541-18-06 | M18X1.5 10 06 10 |008.0X1.5] 48.1 2 239 | 24
20541-20-06T | M20X1.5 10 06 12 |010.0X1.5| 47.8 | 25 | 235 | 24
20541-20-08 | M20X1.5 12 08 12 |010.0X1.5| 68.1 | 25 | 332 | 27
20541-22-06T | M22X1.5 10 06 14 |011.0X2.0| 48.1 3 239 | 27
20541-22-08 | M22X1.5 12 08 14 |011.0x2.0| 681 | 25 | 332 | 27
20541-24-08T | M24X1.5 12 08 16 |013.0X2.0] 62.5 3 275 | 30
20541-30-10T | M30X2 16 10 20 |016.3X2.4| 735 | 25 | 292 | 36
20541-30-12 | M30X2 20 12 20 |016.3X2.4| 77.2 3 30.3 | 36
20541-36-12T | M36X2 20 12 25 |020.3X2.4| 81.1 | 3.2 33 46
20541-36-14T | M36X2 22 14 25 |020.3x2.4| 828 | 3.2 | 325 | 46
20541-42-16T | M42X2 25 16 30 [025.3X2.4| 906 | 3.9 | 351 | 50
20541-52-20T | M52X2 32 20 38 |033.3X2.4| 101.7 | 45 | 394 | 60
20541-52-24T | M52X2 40 24 38 1033.3x2.4| 114.1 | 45 | 434 | 60
V1L KPS TR . 2. 41K I T YRGS R 5 240 20542-3-xK.

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20542-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

T
¢
20591 20591-T
90° A HINIEL24° H#HHONBERT
90° METRIC FEMALE 24° CONE O-RING H.T.
ISO 12151-2—DIN 3865
£ = 12 4L E Jik % HOSE BORE BEroe | O EE J{ ~f DIMENSIONS

PART NO. | THREAD E| A% N4 DN | ##% DASH | TUBE O.D.| O RING A C H S2
20591-14-04 | M16X1.5 6 04 6 004.5X1.5| 30 1.5 | 39.5 19
20591-16-04 | M16X1.5 6 04 8 006.5X1.5| 30 1.5 | 39.5 22
20591-16-05 [ M16X1.5 8 05 8 006.5X1.5| 33 1.5 | 425 22
20591-18-05T | M18X1.5 8 05 10 008.0X1.5| 33 1.5 | 415 22
20591-18-06 | M18X1.5 10 06 10 008.0X1.5| 35.3 2 45.8 24
20591-20-06T | M20X1.5 10 06 12 010.0X1.5| 353 | 25 | 44.3 24
20591-20-08 [ M20X1.5 12 08 12 010.0X1.5] 41 2.5 61 27
20591-22-06T | M22X1.5 10 06 14 011.0X2.0{ 35.3 3 44.8 27
20591-22-08 | M22X1.5 12 08 14 011.0X2.0{ 41 2.5 53 27
20591-24-08T | M24X1.5 12 08 16 013.0X2.0] 41 3 50.5 30
20591-24-10 | M24X1.5 16 10 16 013.0X2.0| 56.5 | 2.5 | 56.5 30
20591-30-10T | M30X2 16 10 20 016.3X2.4| 56 2.5 58 36
20591-30-12 M30X2 20 12 20 016.3X2.4| 64.9 3 64 36
20591-36-12T | M36X2 20 12 25 020.3X2.4| 66.2 | 3.2 | 67.8 46
20591-36-14T |  M36X2 22 14 25 020.3X2.4| 712 | 3.2 | 68.8 46
20591-42-16T | M42X2 25 16 30 025.3X2.4| 78 3.9 | 751 50
20591-52-20T | M52X2 32 20 38 033.3X2.4| 93 45 | 86.5 60
20591-52-24T |  M52X2 40 24 38 033.3X2.4]| 109.4 | 4.5 100 60

RS TR 2. W F T 9805 AR5 250R 20592-3¢-xX

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20592-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

C, A C A
N |
T2 T T &-@L _
S2 S2
20611 20611-T

NI AR 60° S EME
METRIC FEMALE 60° CONE

5 2 O4LE iz % HOSE BORE J& s} DIMENSIONS
PART NO. THREAD E APKA4E DN br'5 DASH A C S2
20611-14-04 M14X1.5 6 04 18 5.5 19
20611-16-05 M16X1.5 8 05 19 5.5 22
20611-16-06 M16X1.5 10 06 19 5.5 22
20611-18-06 M18X1.5 10 06 20 5.5 24
20611-20-08 M20X1.5 12 08 22 6.5 27
20611-22-08 M22X1.5 12 08 22.5 6 27
20611-24-10 M24X1.5 16 10 24.5 6.5 30
20611-26-10 M26X1.5 16 10 25.5 6 32

20611-27-10DT M27X1.5 16 10 25.5 6 32
20611-27-10T M27X2 16 10 25.5 6 32
20611-30-10D M30X1.5 16 10 26.5 6 36
20611-30-12D M30X1.5 20 12 26.5 6 36
20611-30-12 M30X2 20 12 26.5 6 36
20611-36-16 M36X2 25 16 30 6.5 41
20611-39-16T M39X2 25 16 30 6.5 46
20611-45-20T M45X2 32 20 31 8.5 55
20611-52-24T M52X2 40 24 32 10 60
e 1RSSR . 2. i H TG A0S B0 20612-x%-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20612-xx-xx.

33



DOMAIN HYDRAULIC HOSE FITTING

g
(/
<o % o
Q
60/ S2
20641 20641-T
45° METRIC FEMALE 60° CONE
45° NHIRNIES 60° ST
(AVIR=2 2 4 E ik & HOSE BORE R ~I DIMENSIONS
PART NO. THREAD E ANFRPI4E DN ¥r5 DASH A C H S2
20641-14-04 M14X1.5 6 04 42.7 55 | 20.6 19
20641-16-05 M16X1.5 8 05 45.1 55 | 21.8 22
20641-18-06 M18X1.5 10 06 47 .4 55 | 23.2 24
20641-22-08 M22X1.5 12 08 61.8 6 26.8 27
20641-27-10DT M27X1.5 16 10 71.4 6 27.1 32
20641-30-12D M30X1.5 20 12 81.6 6 33.5 36
20641-36-14T M36X2 22 14 81.9 6.5 | 316 41
20641-39-16T M39X2 25 16 88.5 6.5 | 34.3 46
20641-45-20T M45X2 32 20 99.1 85 | 384 55
20641-52-24T M52X2 40 24 113.4 10 | 42.7 60

e A RPAUCT TR .

Note: 1.For use with braided hoses.

2. i TSR AR S Ok 20642-xx-xX
2.1f use with spiral hoses, hose fitting series number is 20642-xx-xx.

34




DOMAIN HYDRAULIC HOSE FITTING

20691 20691-T

90° HIAIR 60° SMEM
90° METRIC FEMALE 60° CONE

£ 5 B 4 E iz % HOSE BORE J& ) DIMENSIONS

PART NO. THREAD E | A% A 4% DN b5'5 DASH A C H S2
20691-14-04 M14X1.5 6 04 30 5.5 37
20691-16-05 M16X1.5 8 05 33 55 | 405
20691-18-06 M18X1.5 10 06 353 | 55 [ 438
20691-22-08 M22X1.5 12 08 41 6 52
20691-27-10DT M27X1.5 16 10 56 6 55
20691-30-12D M30X1.5 20 12 66.2 6 68.5
20691-36-16 M36X2 25 16 78 6.5 | 76.5
20691-36-14T M36X2 22 14 712 | 65 | 675
20691-39-16T M39X2 25 16 76.7 | 6.5 74
20691-45-20T M45X2 32 20 915 | 85 85
20691-52-24T M52X2 40 24 109.4] 10 99

L RPRS TSR . 2. 7 T 9L 1R 5 2h 20892-xx-XX »

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20692-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

C A
N
%; Z_ L7772
74°(W |
S2
20711 20711-T
E#R 2l R EES 74°
GB METRIC FEMALE 74° CONE SEAT
R 5 i2 4 E k% HOSE BORE )~ DIMENSIONS

PART NO. [THREAD E [ A% /4% DN] 455 DASH A c s2
20711-10-02_| __M10X1 4 02 14 75 14
20711-12-03C | M12X1.25 5 03 14 9 17
20711-12-03_| M12X1.5 5 03 14 10 17
20711-12-04_| M12X15 6 04 145 10 17
20711-14-04_| M14X1.5 6 04 155 85 19
20711-14-05_| M14X15 8 05 155 85 19
20711-14-06_| M14X1.5 10 06 155 85 19
20711-16-04_| M16X1.5 6 04 16.5 8 22
20711-16-05_| M16X1.5 8 05 16.5 8 22
20711-16-06_| M16X1.5 10 06 16 8 22
20711-18-05T | M18X1.5 8 05 16 8 22
20711-18-06_| M18X1.5 10 06 175 10 24
20711-20-06T | M20X1.5 10 06 16 10 24
20711-20-08_| M20X1.5 12 08 185 10 27
20711-22-06T | M22X1.5 10 06 16 10 27
20711-22-08_| M22X1.5 12 08 185 10 27
20711-22-10_| M22X1.5 16 10 19 10 27
20711-24-08T | M24X15 12 08 165 11 30
20711-27-08T | M27X1.5 12 08 185 11 32
20711-27-10T | M27X15 16 10 195 11 32
20711-27-12_| M27X15 20 12 215 11 32
20711-30-10T | M30X1.5 16 10 18 11 36
20711-30-12_| _M30X1.5 20 12 215 11 36
20711-33-10T | M33X2 16 10 195 13 41
20711-33-12T | M33X2 20 12 20 13 41
20711-33-14_| _M33X2 22 14 215 13 41
20711-36-12T | M36X2 20 12 20 14 41
20711-36-14T | M36X2 22 14 20 14 41
20711-36-16_| _M36X2 25 16 23 14 41
20711-39-16T | M39X2 25 16 235 14 46
20711-42-16T | M42X2 25 16 235 15 50
20711-42-20 | _M42X2 32 20 26 15 50
20711-45-20T | M45X2 32 20 25 15 55
20711-52-24T | _M52X2 40 24 25 17 60

e 1 RPACT T ST .

Note: 1.For use with braided hoses.

2. I T RS R AEAC T O 207 12-Xx-XX
2.If use with spiral hoses, hose fitting series number is 207 12-xx-xx.

36




DOMAIN HYDRAULIC HOSE FITTING

20741

45° EWRAFINERL 74° FEEE
45° GB METRIC FEMALE 74° CONE SEAT
2% REF. GB/T 9065.1

5 2 4E i % HOSE BORE JO DIMENSIONS
PART NO. THREAD E | AFsM4: DN [ #5*5 DASH A C H S2
20741-14-04 M14X1.5 6 04 40.5 8.5 18.5 19
20741-16-05 M16X1.5 8 05 44.4 8 20 22
20741-18-06 M18X1.5 10 06 45.7 10 21.4 24
20741-22-08 M22X1.5 12 08 58.9 10 24 27
20741-27-10 M27X1.5 16 10 70.7 11 26.4 32
20741-30-12 M30X1.5 20 12 78.1 11 30 36
20741-33-12 M33X2 20 12 77.4 13 30 41
20741-33-16 M33X2 25 16 85 13 30.8 41
20741-36-14 M36X2 22 14 79.8 14 29.6 41
20741-36-16 M36X2 25 16 85.7 14 31.5 41
20741-39-16 M39X2 25 16 86.1 14 31.8 46
20741-45-20W M45X2 32 20 97 15 36.2 55
20741-52-24W M52X2 40 24 115.3 17 40.9 60
TEe AL PR TR . 2. 5 TR S B0 20742-xx%0K

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20742-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

20791

90° E#R/AHI AR 74° NHEE
90° GB METRIC FEMALE 74° CONE SEAT
2% REF. GB/T 9065.1

(= # 4LE ik # HOSE BORE JU <} DIMENSIONS

PART NO. THREAD E AFRAAE DN #r5 DASH A C H S2
20791-12-04C M12X1.25 6 04 30 9 33.5 17
20791-12-04 M12X1.5 6 04 30 10 33.5 17
20791-14-04 M14X1.5 6 04 30 8.5 34 19
20791-16-04 M16X1.5 6 04 30 8 35 22
20791-16-05 M16X1.5 8 05 34 8 38 22
20791-18-06 M18X1.5 10 06 35.3 10 41.3 24
20791-22-08 M22X1.5 12 08 41 10 48 27
20791-22-10 M22X1.5 16 10 56 10 52.5 27
20791-27-10 M27X1.5 16 10 56 11 54 32
20791-30-12 M30X1.5 20 12 66.2 11 63.5 36
20791-33-12 M33X2 20 12 65.5 13 63.5 41
20791-33-16 M33X2 25 16 76.7 13 69 41
20791-36-12 M36X2 20 12 65.5 14 63.5 41
20791-36-14 M36X2 22 14 71.2 14 64.5 41
20791-39-16 M39X2 25 16 76.7 14 70.5 46
20791-45-20W M45X2 32 20 91.5 15 83 55
20791-52-20W M52X2 32 20 93 17 84.5 60
20791-52-24W M52X2 40 24 110.7 17 96.5 60

e RS TS . 2. W A RGNS O 20792-XX-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20792-xx-xx.

38



DOMAIN HYDRAULIC HOSE FITTING

10

|- o
|
S2
\.S2
22111 22111W 22111-T
HE I LERE
BSP FEMALE MULTISEAL
5 [ g = g 4 HOSE BORE &~} DIMENSIONS

PART NO. THREAD E NFRN4E DN bn'5 DASH A © S2
22111-02-04 G1/8"X28 6 04 19 2 14
22111-04-03 G1/4"X19 5 03 19 4 19
22111-04-04 G1/4"X19 6 04 19.5 4 19
22111-06-05 G3/8"X19 8 05 20 5 22
22111-06-06 G3/8"X19 10 06 20.5 5 22
22111-06-08 G3/8"X19 12 08 21 5 22
22111-08-06T G1/2"X14 10 06 22.5 6 27
22111-08-08 G1/2"X14 12 08 23 6 27
22111-08-10 G1/2"X14 16 10 24 6 27
22111-10-10 G5/8"X14 16 10 25 8 30
22111-10-12 G5/8"X14 20 12 25 8 30
22111-12-08T G3/4"X14 12 08 25 9.5 32
22111-12-10 G3/4"X14 16 10 26 9.5 32
22111-12-12 G3/4"X14 20 12 26 9.5 32
22111-16-12T G1"X11 20 12 26.5 11 41
22111-16-14 G1"X11 22 14 26.5 11 41
22111-16-16 G1"X11 25 16 28 11 41
22111-20-16T G1.1/4"X11 25 16 27.5 11 50
22111-20-20W G1.1/4"X11 32 20 31.5 10 50
22111-24-24\W G1.1/2"X11 40 24 37 11.5 515
22111-32-32W G2"X11 50 32 34 15 70

w1 RPAS TR . 2. Qi TS s AT O 22112-x%-XX

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22112-xx-xx.

39



DOMAIN HYDRAULIC HOSE FITTING

22141 22141-T 22141-W

45° HWERNIRLIKE
45° BSP FEMALE MULTISEAL

(A=) 2 4LE ik % HOSE BORE R <} DIMENSIONS
PART NO. THREAD E | A#M4E DN [ #5:'5 DASH A C H S2
22141-02-04 G1/8"X28 6 04 43.7 2 21.6 14
22141-04-03 G1/4"X19 5 03 41.3 4 20.4 19
22141-04-04 G1/4"X19 6 04 437 4 21.6 19
22141-06-05 G3/8"X19 8 05 46.2 5 22.9 22
22141-06-06 G3/8"X19 10 06 48.1 5 23.9 22
22141-06-08 G3/8"X19 12 08 60.4 5 25.4 22
22141-08-04T G1/2"X14 6 04 439 6 23.8 27
22141-08-06T G1/2"X14 10 06 425 6 18.2 27
22141-08-08 G1/2"X14 12 08 61.8 6 26.8 27
22141-08-10 G1/2"X14 16 10 73 6 29 27
22141-10-10 G5/8"X14 16 10 73.7 8 28.9 30
22141-10-12 G5/8"X14 20 12 79.8 8 32.5 30
22141-12-08T G3/4"X14 12 08 632 | 95 | 283 32
22141-12-10 G3/4"X14 16 10 704 | 95 | 296 32
22141-12-12 G3/4"X14 20 12 806 | 95 | 33.2 32
22141-16-12 G1"X11 20 12 81.6 11 335 | 41
22141-16-14 G1"X11 22 14 83.3 11 33 41
22141-16-16 G1"X11 25 16 89.2 11 35 41
22141-20-16T | G1.1/4"X11 25 16 91.4 | 9.1 37.1 50
22141-20-20W | G1.1/4"X11 32 20 1029 10 | 41.2 50
22141-24-24W | G1.1/2"X11 40 24 119.8 [ 115 49 55
22141-32-32W G2"X11 50 32 137.4 | 15 53 70
HFe L RPAG H T R 2.7 H T 9GRS 50 22142-x%-xX.

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22142-xx-xx.

40



DOMAIN HYDRAULIC HOSE FITTING

22191 22191-T 22191-W

90° EENIZLIKE
90° BSP FEMALE MULTISEAL

K5 iR ZE ik & HOSE BORE JU s} DIMENSIONS
PART NO. THREAD E | A#Af: DN | 55 DASH A C H S2
22191-02-04 G1/8"X28 6 04 30 2 38 14
22191-04-03 G1/4"X19 5 03 27 4 35 19
22191-04-04 G1/4"X19 6 04 30 4 38 19
22191-04-05 G1/4"X19 8 05 33 4 | #5] 19
22191-06-05 G3/8"X19 8 05 33 5 42 22
22191-06-06 G3/8"X19 10 06 g6k 5 | 443 | 22
22191-06-08 G3/8"X19 12 08 41 5 50 22
22191-08-06T G1/2"X14 10 06 35.3 6 | 468 [ 27
22191-08-08 G1/2"X14 12 08 41 6 | 525 27
22191-10-10 G5/8"X14 16 10 56.5 8 | 575 30
22191-10-12 G5/8"X14 20 12 65.5 8 67 30
22191-12-08T G3/4"X14 12 08 41 9.5 52 32
22191-12-10 G3/4"X14 16 10 56.5 | 95 | 585 | 32
22191-12-12 G3/4"X14 20 12 655 | 9.5 68 32
22191-16-12T G1"X11 20 12 66.2 11 [ 685 ] 41
22191-16-14 G1"X11 22 14 71.2 11 | 695 | 41
22191-16-16 G1"X11 25 16 76.7 11 75 41
22191-20-16T | G1.1/4"X11 25 16 76.7 10 78 50
22191-20-20W | G1.1/4"X11 32 20 92.3 10 | 85.3 | 50
22191-24-24W | G1.1/2"X11 40 24 109.4 | 115 | 108 | 55
22191-32-32W G2"X11 50 32 133.1] 15 [123.8] 70

e 1 RS H T . 2. T TS HAE RS Bl 22192-xx-xX0

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22192-xx-xx.

41



DOMAIN HYDRAULIC HOSE FITTING

C A
|
|
N 22211
HJ el Loed
BSP FEMALE FLAT SEAT
S2
(AIRE7 12 4 E Jii % HOSE BORE JU st DIMENSIONS
PART NO. THREAD E | A#M4: DN | 455 DASH A C S2
22211-04-04 G1/4"X19 6 04 15.5 8 19
22211-04-06 G1/4"X19 10 06 15.5 8 19
22211-06-04 G3/8"X19 6 04 17 9 22
22211-06-05 G3/8"X19 8 05 17 9 22
22211-06-06 G3/8"X19 10 06 16.5 9 22
22211-06-08 G3/8"X19 12 08 17.5 9 22
22211-08-06T G1/2"X14 10 06 18 | 105 | 27
22211-08-08 G1/2"X14 12 08 18.5 | 105 | 27
22211-10-08 G5/8"X14 12 08 20 12 30
22211-10-10 G5/8"X14 16 10 21 12 30
22211-12-08T G3/4"X14 12 08 205 | 135 | 32
22211-12-10 G3/4"X14 16 10 215 | 135 | 32
22211-12-12 G3/4"X14 20 12 215 | 135 | 32
22211-16-12T G1"X11 20 12 215 | 155 | 41
22211-16-16 G1"X11 25 16 23 | 155 | 41
22211-20-20W | G1.1/4"X11 32 20 26 | 155 | 50
22211-24-24W | G1.1/2"X11 40 24 275 | 175 | 55
22211-32-32W G2"X11 50 32 30.5 23 70
e AL RPRG TR . 2. i TSR R T BN 22212-X%-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22212-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

22241

45° FEEPIELTEmE
45° BSP FEMALE FLAT SEAT

K5 2 ZQE ik ¥ HOSE BORE JU 5 DIMENSIONS
PART NO. THREAD E AFEPMAE DN | br5 DASH A C H S2
22241-04-04 G1/4"X19 6 04 40.9 8 18.8 19
22241-06-06 G3/8"X19 10 06 45.3 9 21 22
22241-08-08 G1/2"X14 12 08 58.9 10.5 24 27
22241-12-12 G3/4"X14 20 12 76.8 13.5 30 32
22241-16-16 G1"X11 25 16 82.7 15.5 | 31.5 41
22241-20-20W | G1.1/4"X11 32 20 97.3 15.5 | 36.6 50
T RS I T 2. A T GBS 0k 22242-xx-xx

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22242-xx-xx.

43



DOMAIN HYDRAULIC HOSE FITTING

22291
I
90° HERBRLTME
90° BSP FEMALE FLAT SEAT
(@)
A= B 4E ik % HOSE BORE JX <} DIMENSIONS
PART NO. THREAD E| AF®ZHN4: DN Fr'5 DASH A C H S2
22291-04-04 G1/4"X19 6 04 30 8 34.5 19
22291-06-06 G3/8"X19 10 06 35.3 9 41.3 22
22291-08-08 G1/2"X14 12 08 41 10.5 48 27
22291-12-12 G3/4"X14 20 12 65.5 185 63.5 32
22291-16-16 G1"X11 25 16 76.7 | 155 70 41
22291-20-20W G1.1/4"X11 32 20 91.5 185 82.5 50
22291-24-24W | G1.1/2"X11 40 24 1094 | 175 | 98.5 55
e 1L RIS T WS . 2. W A SRR S TR 22292-XX-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22292-xx-xx.

44



DOMAIN HYDRAULIC HOSE FITTING

GOOCLIJ .

22611D

KERNIRL 60° SMEEN S
BSP FEMALE 60° CONE DOUBLE HEXAGON

5 2 4E iz % HOSE BORE /< s} DIMENSIONS

PART NO. THREADE | 2A#W#% DN | #i* DASH A C s1 | s2
22611D-04-04 | G1/4"X19 6 04 235 | 55 19 19
22611D-06-06 | G3/8"X19 10 06 265 | 63 | 22 | 22
22611D-08-08 | G1/2"X14 12 08 31 | 75 | 27 | 27
22611D-10-08 | G5/8"X14 12 08 31 | 95 | 30 [ 30
22611D-12-08 | G3/4"X14 12 08 315 | 109 | 32 | 32
22611D-12-12 | G3/4"X14 20 12 335 [ 109 | 32 | 32
22611D-16-16 G1"X11 25 16 355 | 11.7 | 41 41
22611D-20-20W| G1.1/4"X11 32 20 44 11 50 | 50

e RS TR A .
Note: 1.For use with braided hoses.

2. it T 4ise
2.If use with spiral hoses, hose fitting series number is 22612D-xx-xx.

AT 22612D-Xx-XX0

45




DOMAIN HYDRAULIC HOSE FITTING

22611D-SM

oo |

KERNIRL 60° SMEFN A
BSP FEMALE 60° CONE DOUBLE HEXAGON

£ 5 2 g E JiX & HOSE BORE JU s} DIMENSIONS

PART NO. THREAD E | AW DN | Fr'5 DASH A C S1 S2
22611D-04-04SM|  G1/4"X19 6 04 235 | 55 14 19
22611D-06-06SM|  G3/8"X19 10 06 245 | 6.3 17 22
22611D-08-08SM|  G1/2"X14 12 08 29 | 75 22 27
22611D-10-08SM|  G5/8"X14 12 08 29 | 95 22 30
22611D-12-08SM|  G3/4"X14 12 08 315 | 109 [ 27 32
22611D-12-12SM|  G3/4"X14 20 12 335 | 109 [ 27 32
22611D-16-16SM|  G1"X11 25 16 355 | 11.7 [ 32 41
22611D-20-20WSM|  G1.1/4"X11 32 20 42 11 41 50
1 RS T RS 2. Wit T ARG 1R 5 50k 22612D-30-xxSM.

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22612D-xx-xxSM.

46



DOMAIN HYDRAULIC HOSE FITTING

=2 C A ‘
!
of L oF 4Ll S
60°> 60 < N L
32 S2
22611-OR 22611-ORT 22611-ORW
HERIRL 60° SMEME O A
BSP FEMALE 60° CONE O-RING
5 2 4LE ik 4 HOSE BORE X~} DIMENSIONS

PART NO. THREAD E [ A# P42 DN | #5'5 DASH A C S2
22611-02-030R | G1/8"X28 5 03 15 5.5 14
22611-02-040R | G1/8"X28 6 04 15 5.5 14
22611-04-030R | G1/4"X19 5 03 17 5.5 19
22611-04-040R | G1/4"X19 6 04 18 5.5 19
22611-04-050R | G1/4"X19 8 05 18 5.5 19
22611-04-060R | G1/4"X19 10 06 18 5.5 19
22611-06-040R | G3/8"X19 6 04 19 6.3 22
22611-06-050R | G3/8"X19 8 05 19 6.3 22
22611-06-060R | G3/8"X19 10 06 195 | 6.3 22
22611-06-080R | G3/8"X19 12 08 195 | 6.3 22
22611-08-060RT| G1/2"X14 10 06 21 7.5 27
22611-08-080R | G1/2"X14 12 08 215 | 75 27
22611-10-080R | G5/8"X14 12 08 22 9.5 30
22611-10-100R | G5/8"X14 16 10 23 9.5 30
22611-12-080RT| G3/4"X14 12 08 22 10.9 32
22611-12-100R | G3/4"X14 16 10 235 | 10.9 32
22611-12-120R | G3/4"X14 20 12 24 10.9 32
22611-16-120RT| G1"X11 20 12 24 11.7 41
22611-16-140R G1"X11 22 14 26 11.7 41
22611-16-160R G1"X11 25 16 27 11.7 41
22611-20-160RT| G1.1/4"X11 25 16 27.5 11 50
22611-20-200RW/| G1.1/4"X11 32 20 30.5 11 50
22611-24-200RT| G1.1/2"X11 32 20 32 13 55
22611-24-240RW| G1.1/2"X11 40 24 32 13 55
22611-32-240RT| G2"X11 40 24 30 16 70
22611-32-320RW|  G2"X11 50 32 31.9 16 70

e L RPAS T A

Note: 1.For use with braided hoses.

2. il T 95 A AR S 0k 22612-xx-xxOR.
2.1f use with spiral hoses, hose fitting series number is 22612-xx-xxOR.

47




DOMAIN HYDRAULIC HOSE FITTING

A |

WHW atllll=n =

22641 22641-W 22641-T
45° EERNEL 60° JMHEE
45° BSP FEMALE 60° CONE
i 5 2 a4 E B & HOSE BORE X s DIMENSIONS

PART NO. THREAD E NFEIN 42 DN #r's5 DASH A © H S2
22641-04-04 G1/4"X19 6 04 42.3 55 20.2 19
22641-06-04 G3/8"X19 6 04 43.2 6.3 21 22
22641-06-05 G3/8"X19 8 05 45.3 6.3 22 22
22641-06-06 G3/8"X19 10 06 46.9 6.3 22.6 22
22641-08-06T G1/2"X14 10 06 48.1 7.5 23.9 27
22641-08-08 G1/2"X14 12 08 61.1 7.5 26.1 27
22641-10-08 G5/8"X14 12 08 61.4 9.5 26.5 30
22641-10-10 G5/8"X14 16 10 72.6 9.5 27.8 30
22641-12-08T G3/4"X14 12 08 61.8 10.9 26.9 32
22641-12-10 G3/4"X14 16 10 73 10.9 28.2 32
22641-12-12 G3/4"X14 20 12 79.2 10.9 31.8 32
22641-16-12T G1"X11 20 12 80.8 11.7 33.4 41
22641-16-16 G1"X11 25 16 88.4 11.7 34.2 41
22641-20-16T G1.1/4"X11 25 16 85.3 11 31.1 50
22641-20-20W G1.1/4"X11 32 20 98.8 11 38 50
22641-24-24W G1.1/2"X11 40 24 116.8 13 45.5 55
22641-32-32W G2"X11 50 32 135.7 16 52.7 70

T 1R AT A

Note: 1.For use with braided hoses.

2. il TS BB AR Tk 22642-xx-xX0
2.1f use with spiral hoses, hose fitting series number is 22642-xx-xx.

48



DOMAIN HYDRAULIC HOSE FITTING

22641D-SM

90° HEMNIZL 60° IMERWAR
90° BSP FEMALE 60° CONE DOUBLE HEXAGON

5 12 Z4E i &% HOSE BORE R~ DIMENSIONS

PART NO. THREAD E | AFKM4E DN | #5'5 DASH A C H S1 | s2
22641D-04-04SM | G1/4"X19 6 04 446 | 55 | 255 | 14 | 19
22641D-06-06SM | G3/8"X19 10 06 516 | 6.3 | 26.9| 17 | 22
22641D-08-08SM | G1/2"X14 12 08 66 | 75 | 31 22 | 27
22641D-10-08SM | G5/8"X14 12 08 66 | 9.5 | 31 22 | 30
22641D-12-08SM | G3/4"X14 12 08 66 | 109 | 315]| 27 | 32
22641D-12-12SM | G3/4"X14 20 12 855 | 109 | 374 | 27 | 32
22641D-16-16SM G1"X11 25 16 947 | 117 | 405 | 32 | 41
e 1 RS H TR . 2.1 T 98 AR5 0k 22642D-Xx-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22642D-xx-xx.

49



DOMAIN HYDRAULIC HOSE FITTING

22691 22691-W 22691-T
90° LA NIRAL60° AP
90° BSP FEMALE 60° CONE
5 2 4LE Ji2 % HOSE BORE R~ DIMENSIONS

PART NO. THREAD E | A% WN1e DN | #5'% DASH A C H S2
22691-02-03 G1/8"X28 5 03 265 | 55 | 315 14
22691-02-04 G1/8"X28 6 04 30 55 | 345 14
22691-04-03 G1/4"X19 5 03 265 | 55 | 335 19
22691-04-04 G1/4"X19 6 04 30 55 | 36.5 19
22691-04-05 G1/4"X19 8 05 33 55 | 395 19
22691-04-06 G1/4"X19 10 06 30 55 | 36.5 19
22691-06-04 G3/8"X19 6 04 30 6.3 | 377 22
22691-06-05 G3/8"X19 8 05 33 6.3 | 407 22
22691-06-06 G3/8"X19 10 06 353 | 6.3 43 22
22691-08-06T G1/2"X14 10 06 35.3 7 43.3 27
22691-08-08 G1/2"X14 12 08 41 7.5 51 27
22691-08-10 G1/2"X14 16 10 565 | 75 | 555 27
22691-10-08 G5/8"X14 12 08 41 95 | 515 30
22691-10-10 G5/8"X14 16 10 56 9.5 56 30
22691-12-08T G3/4"X14 12 08 41 10.9 | 52.1 32
22691-12-10 G3/4"X14 16 10 56.5 | 10.9 | 56.6 32
22691-12-12 G3/4"X14 20 12 649 | 10.9 | 66.1 32
22691-16-12T G1"X11 20 12 655 | 11.7 | 68.3 41
22691-16-14 G1"X11 22 14 712 | 11.7 | 69.3 41
22691-16-16 G1"X11 25 16 76.7 | 11.7 | 73.8 41
22691-20-16T | G1.1/4"X11 25 16 78 11 69.5 50
22691-20-20W | G1.1/4"X11 32 20 91.5 11 84.3 50
22691-24-24W | G1.1/2"X11 40 24 1094 [ 13 103 55
22691-32-32W G2"X11 50 32 1318 16 | 1233 70

i

1. &P T

P 4 1t

Note: 1.For use with braided hoses.

2. I TG S BN 22692-X%-XX o

2.1f use with spiral hoses, hose fitting series number is 22692-xx-xx.

50




DOMAIN HYDRAULIC HOSE FITTING

22691D
T
00° EEMRIRL 60° IMEEMMW A
90° BSP FEMALE 60° CONE DOUBLE HEXAGON
o
£ 5 = 4LE ik % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E | AFKN{: DN | ki's DASH A C H S1 S2
22691D-04-04 G1/4"X19 6 04 30 55 | 405 | 19 19
22691D-06-06 G3/8"X19 10 06 353 | 6.3 49 | 22 | 22
22691D-08-08 G1/2"X14 12 08 41 7.5 58 | 27 | 27
22691D-12-12 G3/4"X14 20 12 655 | 109 | 74 | 32 32
22691D-16-16 G1"X11 25 16 767 | 1.7 | 82 | 41 41

51




DOMAIN HYDRAULIC HOSE FITTING

90° REMURL 60° SMERMA
90° BSP FEMALE 60° CONE DOUBLE HEXAGON

22691D-SM

R 5 8 4 E k% HOSE BORE JU I DIMENSIONS

PARTNO. | THREAD E | AR DN | b5 DASH A C H | s1]| s2
22691D-04-04SM| G1/4"X19 6 04 30 [ 55 | 405 | 14 | 19
22691D-06-06SM| G3/8"X19 10 06 353 | 63 | 49 | 17 | 22
22691D-08-08SM| G1/2"X14 12 08 41 | 75 | 58 | 22 | 27
22691D-10-08SM| G5/8"X14 12 08 41 | 95 [ 58 [ 22 [ 30
22691D-12-08SM| G3/4"X14 12 08 415 |1 109 [ 58 | 27 | 32
22691D-12-12SM| G3/4"X14 20 12 655 | 109 | 74 | 27 | 32
22691D-16-16SM|  G1"X11 25 16 76.7 | 11.7 | 828 | 32 | 41

e RS TPV

Note: 1.For use with braided hoses.

2.0 FH 95 S AR5 20 22692D -xx-XX o
2.1f use with spiral hoses, hose fitting series number is 22692D-xx-xx.

52




DOMAIN HYDRAULIC HOSE FITTING

A
S1
S NI
22691K
T
o 90° EEREHMIRL 60° JMEM
4 >Ig S2 90° BSP COMPACT FEMALE 60° CONE
60°
A= 2 4 E K& % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E | A®RH4% DN ¥r5 DASH A C H S1 S2
22691K-04-04 G1/4"X19 6 04 17.5 55 18.5 11 19
22691K-06-04 G3/8"X19 6 04 20 6.3 24 16 22
22691K-06-05 G3/8"X19 8 05 20 6.3 24 16 22
22691K-06-06 G3/8"X19 10 06 20 6.3 24 16 22
22691K-08-06 G1/2"X14 10 06 23 7.5 28.5 19 27
22691K-08-08 G1/2"X14 12 08 235 7.5 28.5 19 27
22691K-10-10 G5/8"X14 16 10 24.5 9.5 30.5 22 30
22691K-12-12 G3/4"X14 20 12 27.5 10.9 33 27 32
22691K-16-16 G1"X11 25 16 43 11.7 38.5 33 41
P RIS TSR . 2. Ui ) TS B AR 5 iy 22692K-XX-XX 0

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22692K-xx-xx.

53



DOMAIN HYDRAULIC HOSE FITTING

-Qﬁ C A ‘
QIS ARl T T

s )

24211 24211-T 24211W
% # ORFS MR T H
ORFS FEMALE FLAT SEAT
ISO 12151-1--SAE J516
ft B 2 4 E Jiz % HOSE BORE JU <} DIMENSIONS
PART NO. THREAD E NFRA 1S DN b»'5 DASH A © S2
24211-04-04 9/16"X18 6 04 22.5 8.5 19
24211-04-05 9/16"X18 8 05 22.5 8.5 19
24211-04-06 9/16"X18 10 06 22.5 8.5 19
24211-06-04T 11/16"X16 6 04 23.5 10 22
24211-06-05T 11/16"X16 8 05 23.5 10 22
24211-06-06 11/16"X16 10 06 25.5 10 22
24211-06-08 11/16"X16 12 08 26 10 22
24211-08-05T 13/16"X16 8 05 2% 11 27
24211-08-06T 13/16"X16 10 06 25 11 27
24211-08-08 13/16"X16 12 08 28 11 27
24211-08-10 13/16"X16 16 10 29 11 27
24211-10-08T 1"X14 12 08 29.5 185 30
24211-10-10 1"X14 16 10 33 13.5 30
24211-10-12 1"X14 20 12 8.9 185 30
24211-12-08T 1.3/16"X12 12 08 30.5 15 36
24211-12-10T 1.3/16"X12 16 10 31.5 15 36
24211-12-12 1.3/16"X12 20 12 35 15 36
24211-12-16 1.3/16"X12 25 16 36 15 36
24211-16-12T 1.7/16"X12 20 12 35 14.8 41
24211-16-14T 1.7/16"X12 22 14 35 14.8 41
24211-16-16T 1.7/16"X12 25 16 35 14.8 41
24211-16-20 1.7/16"X12 32 20 39.5 14.8 41
24211-20-16T 1.11/16"X12 25 16 35 15 50
24211-20-20W 1.11/16"X12 32 20 42.5 15 50
24211-20-24W 1.11/16"X12 40 24 42.5 15 50
24211-24-20T 2"X12 32 20 36 14.8 60
24211-24-24T 2"X12 40 24 36 14.8 60
e AL RPRS TR . 2. I FF g AT BUh 24212-X%-XXo

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 24212-xx-xx.

54



DOMAIN HYDRAULIC HOSE FITTING

XA s2
24241 24241-T 24241-W
45° EFHIORFSHEL TR
45° ORFS FEMALE FLAT SEAT
ISO 12151-1--SAE J516

£ 5 2 gL E X % HOSE BORE &~ DIMENSIONS

PART NO. THREAD E AN DN | #i'5 DASH A H © S2
24241-04-04 9/16"X18 6 04 455 | 234 | 85 19
24241-04-05 9/16"X18 8 05 476 | 243 | 85 19
24241-04-06 9/16"X18 10 06 492 | 249 | 85 19
24241-06-04T 11/16"X16 6 04 39.5 | 17.4 10 22
24241-06-05T 11/16"X16 8 05 42.3 19 10 22
24241-06-06 11/16"X16 10 06 51.3 | 27.1 10 22
24241-08-06T 13/16"X16 10 06 446 | 20.3 11 27
24241-08-08 13/16"X16 12 08 65.7 | 30.7 11 27
24241-08-10 13/16"X16 16 10 76.5 | 31.7 11 27
24241-10-08T 1"X14 12 08 58.2 | 23.3 | 135 30
24241-10-10 1"X14 16 10 79.2 | 349 | 135 30
24241-12-08T 1.3/16"X12 12 08 58.2 | 23.3 15 36
24241-12-10T 1.3/16"X12 16 10 68.2 [ 23.9 15 36
24241-12-12 1.3/16"X12 20 12 87 | 395 15 36
24241-12-16 1.3/16"X12 25 16 953 [ 41 15 36
24241-16-12T 1.7/16"X12 20 12 74 | 296 | 14.8 41
24241-16-14T 1.7/16"X12 22 14 78.7 | 28.5 | 14.8 41
24241-16-16T 1.7/16"X12 25 16 84.1 | 29.7 | 148 41
24241-20-16T 1.11/16"X12 25 16 84.1 | 29.7 15 50
24241-20-20W 1.11/16"X12 32 20 111.2 | 49 15 50
24241-24-20T 2"X12 32 20 945 | 338 | 14.8 60
24241-24-24T 2"X12 40 24 108.5| 37.7 | 14.8 60

e LRSS H TR 2. WG H TSRS IO 24242-x%-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 24242-xx-xx.

55



DOMAIN HYDRAULIC HOSE FITTING

T
O
24291 24291-T 24291W
90° %I ORFS MME4 |
90° ORFS FEMALE FLAT SEAT
ISO 12151-1--SAE J516
(AIR=) 2 4 E Jii % HOSE BORE &~} DIMENSIONS

PART NO. THREAD E AFEM4E DN | 55 DASH A H C S2
24291-04-04 9/16"X18 6 04 30 41 8.5 19
24291-04-05 9/16"X18 8 05 33 44 8.5 19
24291-06-05T 11/16"X16 8 05 33 | 375 10 22
24291-06-06 11/16"X16 10 06 35.3 | 49.3 10 22
24291-06-08 11/16"X16 12 08 41 55 10 22
24291-08-06T 13/16"X16 10 06 35.3 | 39.8 11 27
24291-08-08 13/16"X16 12 08 41 | 575 11 27
24291-08-10 13/16"X16 16 10 56.5 | 61.5 11 27
24291-10-08T 1"X14 12 08 41 46 | 13.5 30
24291-10-10 1"X14 16 10 56 66 | 13.5 30
24291-10-12 1"X14 20 12 65.5 | 755 | 13.5 30
24291-12-10T 1.3/16"X12 16 10 56 | 51.5 15 36
24291-12-12 1.3/16"X12 20 12 65.5 | 77 15 36
24291-12-16 1.3/16"X12 25 16 76.7 | 83.5 15 36
24291-16-12T 1.7/16"X12 20 12 655 | 63 | 14.8 | 41
24291-16-14T 1.7/16"X12 22 14 712 | 63 | 148 | 41
24291-16-16T 1.7/16"X12 25 16 76.9 | 67.5 | 14.8 | 41
24291-20-16T 1.11/16"X12 25 16 76.7 | 67.5 15 50
24291-20-20W 1.11/16"X12 32 20 93 100 15 50
24291-24-20T 2"X12 32 20 915 | 785 | 14.8 60
24291-24-24T 2"X12 40 24 109.4] 92 | 14.8 60

e 1R PRS H TmE .
Note: 1.For use with braided hoses.

2. T TS E AT SOl 24292-xx-xX
2.1f use with spiral hoses, hose fitting series number is 24292-xx-xx.

56




DOMAIN HYDRAULIC HOSE FITTING

C_A 26711D
7aw AL - 4| JIC FIBL 74° M f
JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON
2 3 SAE J514
R 5 4l E X % HOSE BORE JU s} DIMENSIONS

PART NO. THREAD E NFRN 4 DN br'5 DASH A © S1 S2
26711D-04-04 7/16"X20 6 04 20 9 17 15
26711D-05-04 1/2"X20 6 04 21 9.5 17 17
26711D-06-04 9/16"X18 6 04 21 10.5 19 19
26711D-06-06 9/16"X18 10 06 21 10.5 19 19
26711D-08-06 3/4"X16 10 06 25 11 24 24
26711D-08-08 3/4"X16 12 08 24.5 11 24 24
26711D-08-10 3/4"X16 16 10 25.5 11 24 24
26711D-10-08 7/8"X14 12 08 28 13 27 27
26711D-10-10 7/8"X14 16 10 29 13 27 27
26711D-12-12 1.1/16"X12 20 12 31.5 15 32 32
26711D-16-12 1.5/16"X12 20 12 33.5 16 41 41
26711D-16-16 1.5/16"X12 25 16 34.5 16 41 41
26711D-16-20 1.5/16"X12 32 20 36.5 16 41 41
26711D-20-20W 1.7/16"X12 32 20 41 17 50 50

L RPCS TR 2. W7 AT PGS MU 26712D-Xx-XXo

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26712D-xx-xx.

57



DOMAIN HYDRAULIC HOSE FITTING

C.__A 26711D-SM
L 7727777
7acu- UL - - %) JIC FIBLL 74° RETEWA A
JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON
s2 st SAE J514
K 5 3® 4QE Kk % HOSE BORE JU <} DIMENSIONS

PART NO. THREAD E NFEN4E DN tn'5 DASH A S1 S2
26711D-04-04SM 7/16"X20 6 04 20 9 12 15
26711D-05-04SM 1/2"X20 6 04 20.5 9.5 12 17
26711D-06-04SM 9/16"X18 6 04 21 10.5 14 19
26711D-06-06SM 9/16"X18 10 06 21 10.5 17 19
26711D-08-06SM 3/4"X16 10 06 23 11 19 24
26711D-08-08SM 3/4"X16 12 08 24.5 11 22 24
26711D-08-10SM 3/4"X16 16 10 25.5 11 22 24
26711D-10-08SM 7/8"X14 12 08 26 13 22 27
26711D-10-10SM 7/8"X14 16 10 27 13 22 27
26711D-12-12SM 1.1/16"X12 20 12 31.5 15 27 32
26711D-16-12SM 1.5/16"X12 20 12 31.5 16 32 41
26711D-16-16SM 1.5/16"X12 25 16 33 16 32 41
26711D-20-20WSM 1.7/16"X12 32 20 39 17 41 50

M 1. RS TR

Note: 1.For use with braided hoses.

2.4 TGRS 0 26712D-xx-xxSM.
2.If use with spiral hoses, hose fitting series number is 26712D-xx-xxSM.

58



DOMAIN HYDRAULIC HOSE FITTING

26741 26741W
45° ZEH| JIC AIEM 74° R
45° JIC FEMALE 74° CONE SEAT
SAE J514
N5 3 4QE Kk %% HOSE BORE JU s} DIMENSIONS

PART NO. THREAD E AFAFE DN [ #5'5 DASH A © H S2
26741-04-03 7/16"X20 5 03 37.6 9 172 15
26741-04-04 7/16"X20 6 04 40.2 9 | 181 | 15
26741-05-04 1/2"X20 6 04 405 | 95 [ 185 | 17
26741-05-05 1/2"X20 8 05 427 | 95 [ 193 | 17
26741-05-06 1/2"X20 10 06 446 | 95 [ 203 | 17
26741-06-04 9/16"X18 6 04 40.5 | 105 [ 185 | 19
26741-06-05 9/16"X18 8 05 426 | 105 [ 193 | 19
26741-06-06 9/16"X18 10 06 44.3 | 105 | 20 19
26741-08-06 3/4"X16 10 06 457 | 11 [ 214 | 24
26741-08-08 3/4"X16 12 08 579 | 11 | 229 | 24
26741-10-08 7/8"X14 12 08 58.9 | 13 24 | 27
26741-10-10 7/8"X14 16 10 696 | 13 | 253 | 27
26741-10-12 7/8"X14 20 12 757 | 13 | 289 | 27
26741-12-08 1.1/16"X12 12 08 60 15 | 251 | 32
26741-12-10 1.1/16"X12 16 10 707 | 15 | 264 | 32
26741-12-12 1.1/16"X12 20 12 768 | 15 30 | 32
26741-14-12 1.3/16"X12 20 12 77.4 | 15 30 36
26741-16-12 1.5/16"X12 20 12 774 | 16 30 | 41
26741-16-16 1.5/16"X12 25 16 857 | 16 | 315 | 41
26741-20-20W 1.5/8"X12 32 20 959 | 17 | 352 | 50
26741-24-20W 1.7/8"X12 32 20 100.9| 20 | 40.1 | 55
26741-24-24W 1.7/8"X12 40 24 114.8| 20 | 441 | 55
26741-32-32W 2.1/2"X12 50 32 1359 235 | 516 | 75

e ARG TR .
Note: 1.For use with braided hoses.

2. F T s E AR S Uk 26742-xx-xX.
2.1f use with spiral hoses, hose fitting series number is 26742-xx-xx.

59




DOMAIN HYDRAULIC HOSE FITTING

A
P E—
//,//
/
I
Ol | 1182
Qé/
74°
26791 26791W
90° £l JIC HIZL 74° WEM
90° JIC FEMALE 74° CONE SEAT
SAE J514
N5 2 4 E Jiz_# HOSE BORE /X5 DIMENSIONS
PART NO. THREAD E AFEA4E DN f55 DASH A C H S2
26791-04-03 7/16"X20 5 03 265 | 9 [305] 15
26791-04-04 7/16"X20 6 04 30 9 |335] 15
26791-05-04 1/2"X20 6 04 30 | 95 | 34 | 17
26791-05-05 1/2"X20 8 05 33 | 95 | 37 | 17
26791-05-06 1/2"X20 10 06 353 | 95 [393 | 17
26791-06-04 9/16"X18 6 04 30 | 105 | 34 | 19
26791-06-05 9/16"X18 8 05 33 | 105 | 37 | 19
26791-06-06 9/16"X18 10 06 353 | 105 [ 39.3 | 19
26791-06-08 9/16"X18 12 08 358 | 10.5 | 39.8 | 19
26791-08-06 3/4"X16 10 06 353 | 11 [ 413 | 24
26791-08-08 3/4"X16 12 08 41 11 | 475 | 24
26791-08-10 3/4"X16 16 10 49 11 | 475 | 24
26791-10-08 7/8"X14 12 08 41 13 | 48 | 27
26791-10-10 7/8"X14 16 10 56 13 | 525 | 27
26791-10-12 7/8"X14 20 12 649 | 13 | 62 | 27
26791-12-08 1.1/16"X12 12 08 41 15 | 495 [ 32
26791-12-10 1.1/16"X12 16 10 56 15 | 54 | 32
26791-12-12 1.1/16"X12 20 12 655 | 15 [ 635 | 32
26791-12-16 1.1/16"X12 25 16 74 15 | 635 [ 32
26791-14-12 1.3/16"X12 20 12 655 | 15 | 635 | 36
26791-16-12 1.5/16"X12 20 12 655 | 16 | 635 | 41
26791-16-16 1.5/16"X12 25 16 767 | 16 | 70 | 41
26791-20-20W 1.5/8"X12 32 20 915 | 17 | 805 | 50
26791-24-20W 1.7/8"X12 32 20 915 | 20 | 805 | 55
26791-24-24W 1.7/8"X12 40 24 1094 | 20 | 94 | 55
26791-32-32W 2.1/2"X12 50 32 133.1| 235 |121.8]| 75
VE 1 RS TR 2. 015t T ORI 1R 5 0 26792-00xx

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26792-xx-xx.

60



DOMAIN HYDRAULIC HOSE FITTING

i * 26791K
I
1 | 90° EHIES JIC NIEL 74° WHER
© : s2 90° JIC COMPACT FEMALE 74° CONE SEAT
£ SAE J514
74°
N = B ZE )& HOSE BORE JU 5 DIMENSIONS
PART NO. THREAD E | PB4 DN b5 DASH A C H S1 S2
26791K-04-04 7/16"X20 6 04 17.5 9 18 11 15
26791K-06-04 9/16"X18 6 04 20 10.5 20.5 14 19
26791K-06-06 9/16"X18 10 06 20 10.5 20.5 16 19
26791K-08-06 3/4"X16 10 06 23 11 25 19 24
26791K-08-08 3/4"X16 12 08 23.5 11 25 22 24
26791K-10-08 7/8"X14 12 08 25 13 27 22 27
26791K-10-10 7/8"X14 16 10 25 13 27 22 27
26791K-12-12 1.1/16"X12 20 12 29 15 31 27 32
26791K-16-16 1.5/16"X12 25 16 43 16 34.3 33 41

e 1R PRS H TmgE .
Note: 1.For use with braided hoses.

2. T TSR T BN 26792K-XX-XX o

2.1f use with spiral hoses, hose fitting series number is 26792K-xx-xx.

61




DOMAIN HYDRAULIC HOSE FITTING

A
N 27811
TTITTITT I T T T
ool Lo - £4) SAE 1247 90° FHETE
f‘“‘\jm SAE FEMALE 90° CONE SEAT
SAE J513
S2
£ 5 2 g E ik % HOSE BORE ]~} DIMENSIONS
PART NO. THREAD E AFEPM4E DN ¥r'5 DASH A C S2
27811-04-03 7/16"X20 5 03 14 9 15
27811-04-04 7/16"X20 6 04 15 9 15
27811-05-05 1/2"X20 8 05 15,5 | 9.5 17
27811-06-04 5/8"X18 6 04 17 | 11.3 | 22
27811-06-05 5/8"X18 8 05 17 | 113 | 22
27811-06-06 5/8"X18 10 06 17 | 113 | 22
27811-08-08 3/4"X16 12 08 18 11 24
27811-10-08 7/8"X14 12 08 18.5 13 27
27811-10-10 7/8"X14 16 10 20 13 27
27811-12-12 1.1/16"X14 20 12 215 | 143 | 32

e 1. R TR

Note: 1.For use with braided hoses.

2. A TS E AR S Ok 27812-x%-xX.
2.1f use with spiral hoses, hose fitting series number is 27812-xx-xx.

62




DOMAIN HYDRAULIC HOSE FITTING

27841

45° £l SAE NH24 90° MM
45° SAE FEMALE 90° CONE SEAT

SAE J513
= ®O4LE ik % HOSE BORE R s} DIMENSIONS

PART NO. THREAD E AFRN 1R DN F55 DASH A C H S2
27841-04-03 7/16"X20 5 03 37.6 9 172 | 15
27841-06-04 5/8"X18 6 04 42 | 113 ] 20 22
27841-06-05 5/8"X18 8 05 437 | 113 | 204 | 22
27841-06-06 5/8"X18 10 06 453 | 11.3 | 21 22
27841-08-08 3/4"X16 12 08 58.2 11 | 233 | 24
27841-10-08 7/8"X14 12 08 58.2 13 [ 233 | 27
27841-10-10 7/8"X14 16 10 69.6 13 [ 253 | 27
27841-12-12 1.1/16"X14 20 12 76.8 | 143 | 30 32

RS TS . 2. W T 9L 1R 5 2R 27842-xx-xX.

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 27842-xx-xx.

63



DOMAIN HYDRAULIC HOSE FITTING

A
’ 27891
T
' 90° £l SAE W24 90° MM
90° SAE FEMALE 90° CONE SEAT
OF | [\\52 SAE J513
“_E
90°
5 % OZE X % HOSE BORE JU s DIMENSIONS
PART NO. THREAD E AHRP4E DN Fr'5 DASH A © H S2
27891-04-04 7/16"X20 6 04 30 9 335 | 15
27891-06-04 5/8"X18 6 04 30 | 11.3 ] 355 | 22
27891-06-05 5/8"X18 8 05 33 | 11.3 |1 385 | 22
27891-06-06 5/8"X18 10 06 35.3 | 11.3 [ 408 | 22
27891-10-08 7/8"X14 12 08 42 13 47 27
27891-10-10 7/8"X14 16 10 56.5 13 | 525 | 27
27891-12-12 1.1/16"X14 20 12 65 | 143 | 635 | 32

Ve RS TS e .

Note: 1.For use with braided hoses.

2.5 TG AR S O 27892-x%-XX o
2.1f use with spiral hoses, hose fitting series number is 27892-xx-xx.

64




DOMAIN HYDRAULIC HOSE FITTING

C

A
f@i
° \_)|
s2/ 81

28611 28611-W

60°|WH -

60°
E

B A2 424 60° A HEE
JIS METRIC FEMALE 60° CONE SEAT

= 24 E ik % HOSE BORE K~} DIMENSIONS

PART NO. | THREAD E | A% /N4 DN [ #:%5 DASH A C S1 S2
28611-12-04 M12X1.5 6 04 20 9 17 17
28611-14-04W | M14X1.5 6 04 23 10.5 19 19
28611-14-06 M14X1.5 10 06 21 10.5 19 19
28611-16-04 M16X1.5 6 04 24 10 22 22
28611-16-05 M16X1.5 8 05 24 10 22 22
28611-16-06 M16X1.5 10 06 24 10 22 22
28611-18-06 M18X1.5 10 06 24 11.5 24 24
28611-18-08 M18X1.5 12 08 24.5 11.5 24 24
28611-20-08 M20X1.5 12 08 28.5 12 27 27
28611-22-08 M22X1.5 12 08 25.5 14 27 27
28611-24-08 M24X1.5 12 08 27.5 15 32 32
28611-24-10 M24X1.5 16 10 28 15 32 32
28611-30-12 M30X1.5 20 12 28.5 18.3 36 36
28611-33-12 M33X1.5 20 12 31 21.3 41 41
28611-33-16 M33X1.5 25 16 32 21.3 41 41
28611-36-20 M36X1.5 32 20 35.5 20 46 46
28611-42-24W | M42X1.5 40 24 36 18.8 55 55
VB A RS TR . 2. U FAF RS 102 0k 28612-X%-XX.

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 28612-xx-xx.

65



DOMAIN HYDRAULIC HOSE FITTING

A |

WD

T O
S1
&
S2
28641 28641-W
45° HARNEINIZEL 60° W
45° JIS METRIC FEMALE 60° CONE SEAT

=] 240 E i i HOSE BORE JX I DIMENSIONS
PART NO. THREAD E | A P{EDN | #5'5 DASH A C H S1 S2
28641-14-04 M14X1.5 6 04 434 [ 105 ] 21.3 | 19 19
28641-16-05 M16X1.5 8 05 47.6 10 | 243 | 22 22
28641-18-06 M18X1.5 10 06 492 [ 115 ] 249 | 24 24
28641-22-08 M22X1.5 12 08 62.1 14 | 272 | 27 27
28641-24-10 M24X1.5 16 10 74.7 15 | 29.9 | 32 32
28641-30-12 M30X1.5 20 12 78 | 183 | 335 | 36 36
28641-33-16 M33X1.5 25 16 89.9 | 213 ] 35.7 | 41 41
28641-36-20 M36X1.5 32 20 104.1] 20 | 41.9 | 46 46
28641-42-24W M42X1.5 40 24 119.7] 18.8 | 49 50 55

e 1 RS T g

U

Note: 1.For use with braided hoses.

2. 401t TGRS AT Tk 28642-xx-XX o

2.1f use with spiral hoses, hose fitting series number is 28642-xx-xx.

66




DOMAIN HYDRAULIC HOSE FITTING

A
1
770
i
//l
/
L T
S1
O ! < @)
E .
60° ~_60°
28691 28691-W
90° AR HINIRL 60° FEEE
90° JIS METRIC FEMALE 60° CONE SEAT
1= B e E ik & HOSE BORE JU 5} DIMENSIONS
PARTNO. | THREAD E | AFA4E DN | b3S DASH A C H S1.| s2
28691-14-04W | M14X1.5 6 04 30 [105] 40 19 | 19
28691-14-06 M14X1.5 10 06 353 [105] 433 | 19 | 19
28691-16-05 M16X1.5 8 05 33 | 10 | 44 | 22 | 22
28691-18-06 M18X1.5 10 06 353 [115] 463 | 24 | 24
28691-22-08 M22X1.5 12 08 41 | 14 | 525 | 27 | 27
28691-24-10 M24X1.5 16 10 56 | 15 | 59 | 32 | 32
28691-30-12 M30X1.5 20 12 655 [183] 715 | 36 | 36
28691-33-16 M33X1.5 25 16 76.7 | 21.3| 76 | 41 41
28691-36-20 M36X1.5 32 20 93 | 20 | 89 | 46 | 46
28691-42-24W | M42X1.5 40 24 109.4[18.8] 108 | 55 | 55

e 1R AT H TSR .
Note: 1.For use with braided hoses.

2. il JH T e A AL 5 0l 28692-xx-xX.
2.1f use with spiral hoses, hose fitting series number is 28692-xx-xx.

67




DOMAIN HYDRAULIC HOSE FITTING

60°|H/ o
(o)
29611 29611-W
H A BEH P IRLL 60° P HEE
JIS GAS FEMALE 60° CONE SEAT
JIS B8363
£ 5 W2 g E i % HOSE BORE JU <} DIMENSIONS

PART NO. THREAD E AR AE DN Fr'5 DASH A C S1 S2
29611-02-03 G1/8"X28 5 03 20 7 14 14
29611-04-04 G1/4"X19 6 04 21 8 19 19
29611-04-05 G1/4"X19 8 05 21 8 19 19
29611-06-04 G3/8"X19 6 04 23 9 22 22
29611-06-06 G3/8"X19 10 06 23 9 22 22
29611-08-06 G1/2"X14 10 06 28 12 27 27
29611-08-08 G1/2"X14 12 08 26.5 12 27 27
29611-10-10 G5/8"X14 16 10 30.5 11.5 30 30
29611-12-10 G3/4"X14 16 10 30 13.5 32 32
29611-12-12 G3/4"X14 20 12 30.5 13.5 32 32
29611-16-16 G1"X11 25 16 32 16 41 41
29611-20-20W G1.1/4"X11 32 20 43 18.5 50 50
29611-24-24W G1.1/2"X11 40 24 43.5 19 55 55
29611-32-32W G2"X11 50 32 46.5 23 70 70

e 1RSI T WS 2. i I T RS AR S 0k 29612-xx-xX.

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 29612-xx-xx.

68



DOMAIN HYDRAULIC HOSE FITTING

29641 29641-W
45° HARZEE MR 60° MM
45° JIS GAS FEMALE 60° CONE SEAT
JIS B8363
(A=) % ZLE Jik % HOSE BORE JU <} DIMENSIONS

PART NO. THREAD E | AF A% DN A C H S1 | s2
29641-04-04 G1/4"X19 6 04 434 | 8 [213 | 19 [ 19
29641-06-06 G3/8"X19 10 06 489 | 9 [246 | 22 | 22
29641-08-08 G1/2"X14 12 08 635 | 12 | 275 | 27 | 27
29641-12-12 G3/4"X14 20 12 81.3 [ 135 [33.9 | 32 | 32
29641-16-16 G1"X11 25 16 873 | 16 [36.1 | 41 | 41
29641-20-20W | G1.1/4"X11 32 20 104.4 | 18,5 | 43.7 | 50 | 50
29641-24-24W | G1.1/2"X11 40 24 1215| 19 | 508 | 55 | 55
29641-32-32W G2"X11 50 32 1406 | 23 | 576 | 70 | 70

e RS T

P
PR

Note: 1.For use with braided hoses.

2. i M TGRS 50R 29642-xx-XX o

2.If use with spiral hoses, hose fitting series number is 29642-xx-xx.

69




DOMAIN HYDRAULIC HOSE FITTING

=
P e
I
S1
<L £\ 82
60°
29691 29691-W
90° HAREMNIZL 60° WM
90° JIS GAS FEMALE 60° CONE SEAT
JIS B8363

R 5 i2 g E Jii %% HOSE BORE J <} DIMENSIONS
PARTNO. | THREAD E | /AN DN | 45 DASH A C H| s1] s2
29691-04-04 G1/4"X19 6 04 30 | 8 | 38 ] 19 | 19
29691-04-05 G1/4"X19 8 05 34 | 8 | 41| 19 | 19
29691-06-06 G3/8"X19 10 06 356 | 9 |458 | 22 | 22
29691-08-08 G1/2"X14 12 08 41 | 12 | 53 | 27 | 27
29691-10-10 G5/8"X14 16 10 56.5 | 115 | 61 | 30 | 30
29691-12-12 G3/4"X14 20 12 65.5 | 135 | 69 | 32 | 32
29691-16-16 G1"X11 25 16 767 | 16 | 765 | 41 | 41
29691-20-20W | G1.1/4"X11 32 20 915 | 185 [ 925 | 50 | 50
29691-24-24W | G1.1/2'X11 40 24 109.4| 19 |1105| 55 | 55
29691-32-32W G2"X11 50 32 131.8| 23 1133.8] 70 [ 70

Ee RPN TS

Note: 1.For use with braided hoses.

2. 90H TG AT B0 29692-xx-XX o

2.1f use with spiral hoses, hose fitting series number is 29692-xx-xx.

70




DOMAIN HYDRAULIC HOSE FITTING

50011
;L-‘ —— ——
a RHFEXEE
:HJ‘”‘”‘[L”’U/ METRIC STANDPIPE STRAIGHT
DIN 2353
R 5 ETHMED ¥ % HOSE BORE R~} DIMENSIONS % TE
PART NO. TUBE O.D. AFEAAE DN b5 % DASH A C NOTE
50011-06-03 6 5 03 28.5 22
50011-06-04 6 6 04 29 22
50011-10-05 10 8 05 31 23
50011-10-06 10 10 06 32 23
50011-12-06 12 10 06 33.5 23
50011-12-08 12 12 08 33 23
50011-15-06 15 10 06 35.5 25
50011-15-08 15 12 08 35.5 25 1% %7
50011-18-08 18 12 08 36.5 26
50011-18-10 18 16 10 41 26
50011-22-10 22 16 10 44 28
50011-22-12 22 20 12 44 28
50011-22-16 22 25 16 46 28
50011-28-16 28 25 16 47 30
50011-35-20 35 32 20 56 36
50011-42-24 42 40 24 62 40
50011-08-04 8 6 04 31 24
50011-08-05 8 8 05 33 24
50011-08-06 8 10 06 33 24
50011-10-04 10 6 04 35 26
50011-12-04 12 6 04 34.5 26
50011-12-05 12 8 05 35.5 26
50011-14-06 14 10 06 39.5 29
50011-14-08 14 12 08 40 29
50011-14-12 14 20 12 45.5 29
50011-16-08 16 12 08 41 30 H AR
50011-16-10 16 16 10 45.5 30
50011-20-10 20 16 10 52.5 36
50011-20-12 20 20 12 52.5 36
50011-25-12 25 20 12 56 40
50011-25-16 25 25 16 57 40
50011-30-16 30 25 16 63 44
50011-30-20 30 32 20 64 44
50011-38-16 38 25 16 69 50
50011-38-20 38 32 20 70 50

e RS TS

SR

Note: 1.For use with braided hoses.

2. i T G AT B0l 50012-xx-xX.
2.1f use with spiral hoses, hose fitting series number is 50012-xx-xx.

71




DOMAIN HYDRAULIC HOSE FITTING

50041

45° AHFEREE
45° METRIC STANDPIPE STRAIGHT

£ 5 ETHIMED % % HOSE BORE JX ~} DIMENSIONS % v
PART NO. TUBE O.D. AFEPAE DN Fr*5 DASH A C H NOTE
50041-06-03 6 5 03 46 22 25.7
50041-06-04 6 6 04 48.7 22 26.6
50041-08-05 8 8 05 52.2 24 29.2
50041-08-06 8 10 06 53.8 24 29.5
50041-10-05 10 8 05 51.5 23 28.5
50041-10-06 10 10 06 53.1 23 28.8
50041-12-06 12 10 06 53.1 23 28.8
50041-15-06 15 10 06 54.5 25 30.3 75|
50041-15-08 15 12 08 66.7 25 31.8
50041-18-08 18 12 08 67.4 26 32.5
50041-18-10 18 16 10 78.6 26 33.8
50041-22-10 22 16 10 79.5 28 37.2
50041-22-12 22 20 12 86.2 28 38.8
50041-28-16 28 25 16 96.7 30 42.4
50041-35-20 35 32 20 111.6 36 49.3
50041-08-04 8 6 04 50.1 24 28
50041-10-04 10 6 04 51.5 26 29.4
50041-12-04 12 06 04 51.5 26 29.4
50041-12-05 12 8 05 48.3 26 24.4
50041-14-06 14 10 06 BIES) 29 33.1
50041-14-08 14 12 08 69.6 29 34.6
50041-16-08 16 12 08 63.2 30 28.2
50041-16-10 16 16 10 80.9 30 36.6 AR
50041-20-10 20 16 10 85.7 36 40.9
50041-20-12 20 20 12 919 36 44.5
50041-25-12 25 20 12 94.7 40 47.3
50041-25-16 25 25 16 102.3 40 48.1
50041-30-16 30 25 16 105.8 44 54.4
50041-30-20 30 32 20 117.2 44 54.9
50041-38-16 38 25 16 110 50 58.6
50041-38-20 38 32 20 121.4 50 59.1
e RS TS . 2. WA ARG AN S B 50042-Xx-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 50042-xx-xx.

72



DOMAIN HYDRAULIC HOSE FITTING

50091
I o .
90° AHIFEREE
@) 90° METRIC STANDPIPE STRAIGHT
DIN 2353
D
N5 HTHMED % % HOSE BORE JU <} DIMENSIONS # I
PART NO. TUBE O.D. AFRA4E DN Fr'5 DASH A C H NOTE
50091-06-03 6 05 03 26.5 22 42.5
50091-06-04 6 6 04 30 22 45.5
50091-08-05 8 8 05 33 24 50.5
50091-08-06 8 10 06 35.3 24 52.8
50091-10-05 10 8 05 33 23 49.5
50091-10-06 10 10 06 35.3 23 51.8
50091-12-06 12 10 06 35.3 23 53.8
50091-12-08 12 12 08 41 23 59
50091-15-06 15 10 06 35.3 25 53.8 75|
50091-15-08 15 12 08 41 25 59
50091-18-08 18 12 08 41 26 60
50091-18-10 18 16 10 56.5 26 64.5
50091-22-10 22 16 10 56.5 28 66.5
50091-22-12 22 20 12 65.5 28 76
50091-22-16 22 25 16 76.7 28 81.5
50091-28-16 28 25 16 76.7 30 83.5
50091-35-20 35 32 20 93 36 100.5
50091-08-04 8 6 04 30 24 475
50091-10-04 10 6 04 30 26 49.5
50091-12-04 12 6 04 30 26 49.5
50091-12-05 12 8 05 33 26 52.5
50091-14-06 14 10 06 35.3 29 57.8
50091-14-08 14 12 08 41 29 63
50091-16-08 16 12 08 41 30 64
50091-16-10 16 16 10 56.5 30 68.5 5
50091-20-10 20 16 10 56.5 36 74.5
50091-20-12 20 20 12 65.5 36 85
50091-25-12 25 20 12 65.5 40 89
50091-25-16 25 25 16 76.7 40 93.5
50091-30-16 30 25 16 76.7 40 93.5
50091-30-20 30 32 20 91.5 44 108.5
50091-38-16 38 25 16 76.7 50 115.5
50091-38-20 38 32 20 91.5 50 114.5
e RS TSV . 2. W A TS AR S B 50092-XX-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 50092-xx-xx.

73



DOMAIN HYDRAULIC HOSE FITTING

A .
C
51011
2 L L L
& EirFEXEE
GB METRIC STANDPIPE
5 %74z D Jii_# HOSE BORE LI DIMENSIONS

PART NO. TUBE O.D. AFRAAE DN 55 DASH A C
51011-04-03 4 5 03 27 17
51011-06-03 6 5 03 30.5 19
51011-06-04 6 6 04 31 19
51011-08-04 8 6 04 31 19
51011-08-05 8 8 05 315 19
51011-08-06 8 10 06 32 19
51011-10-04 10 6 04 35 22
51011-10-05 10 8 05 35 22
51011-10-06 10 10 06 35 22
51011-12-05 12 8 05 35 22
51011-12-06 12 10 06 35 22
51011-14-06 14 10 06 35 22
51011-14-08 14 12 08 35.5 22
51011-16-06 16 10 06 35 22
51011-16-08 16 12 08 36 22
51011-16-10 16 16 10 36.5 22
51011-16-12 16 20 12 38 22
51011-18-12 18 20 12 415 24
51011-22-12 22 20 12 45 28
51011-22-14 22 22 14 45 28
51011-28-16 28 25 16 49 30
51011-34-20 34 32 20 53 33
51011-42-24 42 40 24 57 35

e 1RSI MOV

Note: 1.For use with braided hoses.

2. i M T PR AU B0k 51012-xx-XX
2.1f use with spiral hoses, hose fitting series number is51012-xx-xx.

74




DOMAIN HYDRAULIC HOSE FITTING

51041

EirFER45° TE
GB METRIC 45° STANDPIPE

o5 HT4ME D Iz % HOSE BORE i M ENC TSNS
PART NO. TUBE O.D. [ A#HM4E DN | #r'%5 DASH A C H
51041-06-04 6 6 04 46.6 19 26.6
51041-08-04 8 6 04 46.6 19 26.6
51041-08-05 8 8 05 48.7 19 25.7
51041-10-04 10 6 04 48.7 22 26.6
51041-10-06 10 10 06 52.4 22 28.1
51041-12-06 12 10 06 52.4 22 28.1
51041-14-06 14 10 06 52.4 22 28.1
51041-14-08 14 12 08 64.6 22 29.7
51041-16-10 16 16 10 75.8 22 31
51041-18-12 18 20 12 83.4 24 36
51041-22-14 22 22 14 86.7 28 38.3
51041-28-16 28 25 16 96.7 30 42.4
51041-34-20 34 32 20 109.5 33 47.2
51041-42-24 42 40 24 123.3 35 52.6

e 1 RS H TR 2. i H T G 5 0k 51042-XX-XX 6

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 51042-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

A
S e -
fie
/
T |l 51091

} @) EfrFERN 90 TE

| GB METRIC 90° STANDPIPE

D

5 ETIMED i % HOSE BORE R ~I DIMENSIONS

PART NO. TUBE O.D. AFEA AR DN Fi'5 DASH A © H
51091-06-04 6 6 04 30.5 19 425
51091-06-06 6 10 06 35.3 19 47.8
51091-08-04 8 6 04 30 19 425
51091-08-05 8 8 05 33 19 455
51091-10-04 10 6 04 30 22 455
51091-10-06 10 10 06 35.8 22 50.8
51091-12-06 12 10 06 35.3 22 50.8
51091-12-08 12 12 08 41 22 56
51091-14-06 14 10 06 35.3 22 50.8
51091-14-08 14 12 08 41 22 56
51091-15-10 15 16 10 56.5 26 64.5
51091-16-08 16 12 08 42 22 56
51091-16-10 16 16 10 56.5 22 60.5
51091-18-10 18 16 10 56.5 24 62.5
51091-18-12 18 20 12 64.9 24 72
51091-22-14 22 22 14 71.2 28 77
51091-28-16 28 25 16 76.7 30 83.5
51091-34-20 34 32 20 91.5 33 97.5
51091-42-24 42 40 24 1094 | 35 113

e 1R T WV

Note: 1.For use with braided hoses.

o 2. W 95 A0S B0 20142406

2.1f use with spiral hoses, hose fitting series number is 20142-xx-xx.

76



DOMAIN HYDRAULIC HOSE FITTING

d 70011
M% Vvl LT r—
- QL[ NI
_L METRIC BANJO
DIN 7642
o iz Jiz % HOSE BORE JU -] DIMENSIONS
PART NO. BOLT APEHNFEDN| 455 DASH A d D
70011-10-03 M10X1 5 03 14.5 10.1 17 10
70011-10-04 M10X1 6 04 17 10.1 17 10
70011-12-04 M12X1.5 6 04 20.5 12.1 20 12
70011-12-05 M12X1.5 8 05 20.5 12.1 20 12
70011-12-06 M12X1.5 10 06 20.5 12.1 20 12
70011-14-04 M14X1.5 6 04 19 14 1 24 14
70011-14-05 M14X1.5 8 05 19 14 .1 24 14
70011-14-06 M14X1.5 10 06 21 141 24 14
70011-16-04 M16X1.5 6 04 20.5 16.1 28 16
70011-16-05 M16X1.5 8 05 20.5 16.1 28 16
70011-16-06 M16X1.5 10 06 20.5 16.1 28 16
70011-18-04 M18X1.5 6 04 23 18.1 32 20
70011-18-05 M18X1.5 8 05 24 18.1 32 20
70011-18-06 M18X1.5 10 06 24 18.1 32 20
70011-18-08 M18X1.5 12 08 24.5 18.1 32 20
70011-22-06 M22X1.5 10 06 28.1 22.1 39 25
70011-22-08 M22X1.5 12 08 28.5 22.1 39 25
70011-22-10 M22X1.5 16 10 27.5 221 39 25
70011-26-12 M26X1.5 20 12 30.5 26.1 46 30
70011-30-16 M30X1.5 25 16 37 30.1 54 36
70011-30-20 M30X1.5 20 41 30.1 54 36
Vi 1LRPRSH TR, 2. il 94 s AR5 B0 70012-XX-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is70012-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

C A
Vit 700M
AN U7
S1 a NGreee e
N\ L METRIC BOLT
S_ DIN 7643
A
= R 4CE JU s} DIMENSIONS
PART NO. THREAD E A B C S1
700M-10 M10X1 19 4 6 17
700M-12 M12X1.5 24 6 6 17
700M-14 M14X1.5 26 8 7 19
700M-16 M16X1.5 28 9 7.5 22
700M-18 M18X1.5 32 11 8 24
700M-22 M22X1.5 39 14 9 27
700M-26 M26X1.5 45 18 10 32
700M-30 M30X1.5 51 22 11 38

78




DOMAIN HYDRAULIC HOSE FITTING

d
o[ — 71011
T
—L ERHR 2 H B FE AR
A JB METRIC BANJO

o (RS ik % HOSE BORE JX~J DIMENSIONS

PART NO. BOLT AREN{E DN | 45 DASH A d D H
71011-06-04 M6X1 6 04 16 6 18 12
71011-08-04 M8X1 6 04 17 8 20 13
71011-10-04 M10X1 6 04 19 10 22 13
71011-10-05 M10X1 8 05 19 10 22 13
71011-10-06 M10X1 10 06 19 10 22 13
71011-12-06 M12X1.5 10 06 21 12 26 15
71011-14-04 M14X1.5 6 04 20.5 14 28 18
71011-14-05 M14X1.5 8 05 21.5 14 28 18
71011-14-06 M14X1.5 10 06 21.5 14 28 18
71011-14-08 M14X1.5 12 08 22.5 14 28 18
71011-16-05 M16X1.5 8 05 22.5 16 32 18
71011-16-08 M16X1.5 12 08 25 16 32 18
71011-18-06 M18X1.5 10 06 26.5 18 36 22
71011-18-08 M18X1.5 12 08 27 18 36 22
71011-18-10 M18X1.5 16 10 27.5 18 36 22
71011-20-06 M20X1.5 10 06 29.5 20 36 22
71011-20-08 M20X1.5 12 08 30 20 36 22
71011-22-10 M22X1.5 16 10 30.5 22 46 30
71011-22-12 M22X1.5 20 12 31 22 46 30
71011-27-10 M27X2 16 10 36.5 27 56 36
71011-27-14 M27X2 22 14 36 27 56 36
71011-27-16 M27X2 25 16 36 27 56 36
71011-33-12 M33X2 20 12 43 33 64 50
71011-42-20 M42X2 32 20 54 42 78 64

He 1RPARSH TR . 2.1 T 95 AR5 2 7101 2-X%-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 71012-xx-xx.

79



DOMAIN HYDRAULIC HOSE FITTING

C A
/A: v / 710M
| W ERER 2l L f iR 42

> JB METRIC BOLT
st

(AVIR=2 2 4LE KR < DIMENSIONS
PART NO. THREAD E A B C S1
710M-10 M10X1 25 4 6 17
710M-14 M14X1.5 32 8 7 19
710M-18 M18X1.5 38 11 8 24
710M-22 M22X1.5 48 14 9 30
710M-27 M27X2 60 18 10 36
710M-33 M33X2 63 22 12 41
710M-42 M42X2 85 28 14 55

80



DOMAIN HYDRAULIC HOSE FITTING

d
/ B e e e 72011
T <
_L T SRR
BSP BANJO
| A
R = 2 ZQE ik & HOSE BORE JX | DIMENSIONS

PART NO. THREAD E [ ¥4 DN br5 DASH A d D H
72011-02-03 G1/8"X28 5 03 18 9.9 24 16
72011-02-04 G1/8"X28 6 04 18.5 9.9 24 16
72011-04-03 G1/4"X19 5 03 19 13.3 24 15
72011-04-04 G1/4"X19 6 04 19.5 13.3 24 15
72011-04-05 G1/4"X19 8 05 19.5 13.3 24 15
72011-04-06 G1/4"X19 10 06 195 13.3 24 15
72011-06-04 G3/8"X19 6 04 22 16.7 29 20
72011-06-05 G3/8"X19 8 05 22 16.7 29 20
72011-06-06 G3/8"X19 10 06 22 16.7 29 20
72011-06-08 G3/8"X19 12 08 23 16.7 29 20
72011-08-05 G1/2"X14 8 05 27.5 21 38 25
72011-08-06 G1/2"X14 10 06 27.5 21 38 25
72011-08-08 G1/2"X14 12 08 28 21 38 25
72011-08-10 G1/2"X14 16 10 29 21 38 25
72011-10-10 G5/8"X14 16 10 28 23 40 27
72011-12-10 G3/4"X14 16 10 32 26.5 48 31
72011-12-12 G3/4"X14 20 12 32 26.5 48 31
72011-16-08 G1"X11 12 08 40 33.3 60 42
72011-16-12 G1"X11 20 12 40 33.3 60 42
72011-16-16 G1"X11 25 16 41 33.3 60 42

v
Note: 1.For use with braided hoses.

1R PG TP

2. 15 -2 5 R AT 2 7201 2-X-XX o

2.If use with spiral hoses, hose fitting series number is 72012-xx-xx.

81




DOMAIN HYDRAULIC HOSE FITTING

A
p—
%J:"V 720B
S1 M S SEIE

i — BSP BOLT

& 5 12 o E J\ ) DIMENSIONS
PART NO. THREAD E A B @ S1
720B-02 G1/8"X28 29.5 4.8 4.8 14
720B-04 G1/4"X19 28.5 6 6 19
720B-06 G3/8"X19 38.5 9 7 22
720B-08 G1/2"X14 44 13 8.5 27
720B-10 G5/8"X14 48.5 15 10 30
720B-12 G3/4"X14 56 18 10 32
720B-16 G1"X11 68.5 22 13 41

82




DOMAIN HYDRAULIC HOSE FITTING

A
L 87311
_
@ ! SAE £ 3000 PSI
Ol ——- ] - + SAE FLANGE 3000 PSI
U - ISO 12151-3--SAE J516
(AVIR=2 S ik 4% HOSE BORE X~ DIMENSIONS

PART NO. FLANGE SIZE| A®WN1: DN tr'5 DASH A © D L
87311-08-08 1/2" 12 08 46 30.2 24 6.73
87311-12-08 3/4" 12 08 47 38.1 31.7 6.73
87311-12-10 3/4" 16 10 48 38.1 31.7 6.73
87311-12-12 3/4" 20 12 48 38.1 31.7 6.73
87311-12-16 3/4" 25 16 49 38.1 31.7 6.73
87311-16-12 1" 20 12 51 44 4 38 8
87311-16-16 1" 25 16 52 44 .4 38 8
87311-16-20 1" 32 20 53 44 4 38 8
87311-20-16 1.1/4" 25 16 57 50.8 43 8
87311-20-20 1.1/4" 32 20 58 50.8 43 8
87311-24-20 1.1/2" 32 20 68 60.3 50 8
87311-24-24 1.1/2" 40 24 68 60.3 50 8
87311-32-24 2" 40 24 70 71.4 62 9.53
87311-32-32 2" 50 32 70 71.4 62 9.53
87311-40-40 2.1/2" 64 40 76 84.1 74 9.53

W RPN TR . 2. W AT PSS MO 87312-xx-XX

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87312-xx-xx.

83




DOMAIN HYDRAULIC HOSE FITTING

T 87341

e 45° SAE 5= 3000 PSI
45° SAE FLANGE 3000 PSI

R\/ ISO 12151-3--SAE J516

Nl
&

(A=) HhERE Jik % HOSE BORE JU 5t DIMENSIONS
PART NO. [FLANGE SIZE| A%P4%: DN | #5'5 DASH A © D H L
87341-08-08 1/2" 12 08 5821302 | 24 |233]6.73
87341-12-08 3/4" 12 08 58.9 [38.1]31.7| 24 |6.73
87341-12-10 3/4" 16 10 69.6 | 38.1 | 31.7 | 25.3 | 6.73
87341-12-12 3/4" 20 12 76.3 [38.1]31.7[289]6.73
87341-16-12 1" 20 12 763|444 | 38 | 289| 8
87341-16-16 1" 25 16 83.9 444 | 38 |29.7]| 8
87341-16-20 1" 32 20 945|444 | 38 |338]| 8
87341-20-16 1.1/4" 25 16 852 (508 | 43 |29.7| 8
87341-20-20 1.1/4" 32 20 945508 | 43 |338]| 8
87341-24-20 1.1/2" 32 20 9591603 | 50 |352]| 8
87341-24-24 1.1/2" 40 24 109.91 60.3 | 50 [39.1] 8
87341-32-24 2" 40 24 109.9| 71.4 | 62 | 39.1 | 9.53
87341-32-32 2" 50 32 129.3| 71.4 | 62 | 46.3 ]| 9.53

RS TS . 2. 1 T 9L AR 5 550K 87342-30¢-xXo

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87342-xx-xx.

84



DOMAIN HYDRAULIC HOSE FITTING

vl
— - 87391
/
;/,
T 90° SAE ;%= 3000 PSI
D 90° SAE FLANGE 3000 PSI
- | ‘ ISO 12151-3--SAE J516
C
£ = VEERNS iz % HOSE BORE X~} DIMENSIONS
PART NO. FLANGE SIZE| AF:/4% DN | b5 DASH A C D H L
87391-08-08 1/2" 12 08 41 [ 302] 24 | 47 | 6.73
87391-12-08 3/4" 12 08 41 | 38.1]31.7| 48 | 6.73
87391-12-10 3/4" 16 10 56 | 38.1]31.7| 52.5] 6.73
87391-12-12 3/4" 20 12 66.2 | 38.1 | 31.7| 62 | 6.73
87391-12-16 3/4" 25 16 76.7 | 38.1]31.7[ 67.5] 6.73
87391-16-12 1" 20 12 655|444 | 38 | 62 8
87391-16-16 1" 25 16 76.7|44.4] 38 | 675] 8
87391-16-20 1" 32 20 91.5| 44.4| 38 | 785]| 8
87391-20-16 1.1/4" 25 16 76.7[50.8| 43 [675] 8
87391-20-20 1.1/4" 32 20 91.5|50.8| 43 | 785]| 8
87391-20-24 1.1/4" 40 24 107 | 50.8 | 43 | 785]| 8
87391-24-20 1.1/2" 32 20 91.5]60.3| 50 [80.5]| 8
87391-24-24 1.1/2" 40 24 109.4| 60.3| 50 | 94 8
87391-32-24 2" 40 24 109.4| 71.4| 62 | 94 | 9.53
87391-32-32 2" 50 32 131.8/ 71.4 | 62 [114.3] 9.53
87391-40-32 2.1/2" 50 32 131.8| 84.1 | 74.4 [116.3] 9.53
Ve 1. KPS TR . 2. ik F TGRS 1R 5 40h 87392-x%-XX

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87392-xx-xx.

85



DOMAIN HYDRAULIC HOSE FITTING

A
L 87611
107 Ly =2 - SAE 3£ 6000 PSI
O+ —- ] [ + SAE FLANGE 6000 PSI
_L_ . ISO 12151-3--SAE J516
5 ki R=T iz % HOSE BORE J¢ s+ DIMENSIONS
PART NO. FLANGE SIZE| AFfH 4% DN | 55 DASH A © D L
87611-08-08 1/2" 12 08 47 31.7 24 7.75
87611-12-10 3/4" 16 10 50.5 | 41.3 32 8.76
87611-12-12 3/4" 20 12 51 41.3 32 8.76
87611-16-12 1" 20 12 56 47.6 38 9.53
87611-16-16 1" 25 16 57 47.6 38 9.53
87611-16-20 1" 32 20 61 47.6 38 9.53
87611-20-16 1.1/4" 25 16 65 54 44 1 10.29
87611-20-20 1.1/4" 32 20 66 54 44 | 10.29
87611-24-20 1.1/2" 32 20 75 63.5 51 12.57
87611-24-24 1.1/2" 40 24 75 63.5 51 [ 12.57
87611-32-24 2" 40 24 85 79.4 67 |12.57
87611-32-32 2" 50 32 85 79.4 67 | 12.57
VE: L RPAVS TR 2. WFHHF 9GS 2l 87612-xx-XX

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87612-xx-xx.




DOMAIN HYDRAULIC HOSE FITTING

A .
) 87641
v/ /’/
T o< 45° SAE 7%= 6000 PSI
< 45° SAE FLANGE 6000 PSI

K/ ISO 12151-3--SAE J516

R 5 B=R5 Jik & HOSE BORE JU s} DIMENSIONS
PART NO. |FLANGE SIZE| %A1 DN | br'5 DASH A C D H L
87641-08-08 1/2" 12 08 58.9 [ 31.7] 24 24 | 7.75
87641-08-12 1/2" 20 12 77 | 31.7| 24 1296 | 7.75
87641-12-10 3/4" 16 10 725413 | 32 | 28.2| 8.76
87641-12-12 3/4" 20 12 792 (413 | 32 | 318 | 8.76
87641-16-16 1" 25 16 889476 | 38 |34.7] 9.53
87641-20-20 1.1/4" 32 20 102.3| 54 44 | 41.5] 10.29
87641-24-20 1.1/2" 32 20 105.8| 63.5 | 51 |45.1[ 12.57
87641-24-24 1.1/2" 40 24 119.8| 63.5 | 51 49 | 12.57
87641-32-24 2" 40 24 12541794 | 67 | 54.7] 12.57
87641-32-32 2" 50 32 144.8| 79.4 | 67 | 61.9 | 12.57

e 1 RBPACT T MO 2. i H TGRS 0k 87642-x%-XXo

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87642-xx-xx.

87



DOMAIN HYDRAULIC HOSE FITTING

A .
W 87661(V62.5)
%L 62.5° SAE 3£ 6000 PSI

K/ 62.5° SAE FLANGE 6000
PSI

=2 PRIt Jii % HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE| AF¢P4: DN | #3'5 DASH A C D H L
87661-12-12(V62.5) 3/4" 20 12 933 |413| 32 | 46 |8.76
87661-16-16(V62.5) 1" 25 16 108.3 [ 47.6 | 38 |50.9 | 9.53
87661-20-20(V62.5) 1.1/4" 32 20 1278 | 54 | 44 |61.1 [10.29
87661-24-24(V62.5) 1.1/2" 40 24 153 | 63.5| 51 |72.8 |12.57
e 1RPRSHTPRARE . 2,075 H T 98 G 8 AR5 1A 87662-XX-XX o

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87662-xx-xx.

88




DOMAIN HYDRAULIC HOSE FITTING

vl

= i

= 87691

/
T ' 90° SAE ;%= 6000 PSI

DI 90° SAE FLANGE 6000 PSI

7] | ISO 12151-3--SAE J516

C
5 VEETS ik % HOSE BORE & ~F DIMENSIONS
PART NO. FLANGE SIZE| A# N4 DN | #55 DASH A C D H L
87691-08-08 1/2" 12 08 41 [31.7] 24 | 48 [ 7.75
87691-12-10 3/4" 16 10 56 | 41.3| 32 | 56.5| 8.76
87691-12-12 3/4" 20 12 65.5 |41.3]| 32 | 66 | 8.76
87691-16-12 1" 20 12 65.5 |47.6] 38 | 69 | 9.53
87691-16-16 1" 25 16 76.7 | 47.6| 38 | 74.5] 9.53
87691-16-20 1" 32 20 91.5 | 476| 38 | 85.5| 9.53
87691-20-16 1.1/4" 25 16 76.7 | 54 | 44 | 78.5]10.29
87691-20-20 1.1/4" 32 20 91.5 | 54 | 44 | 89.5]10.29
87691-24-20 1.1/2" 32 20 915 [63.5] 51 | 945 |12.57
87691-24-24 1.1/2" 40 24 109.4 [ 63.5] 51 [ 108 [12.57
87691-32-24 2" 40 24 109.4 [ 79.4| 67 | 116 [12.57
87691-32-32 2" 50 32 131.8] 79.4| 67 | 136.3]/12.57

e 1 RS TMEAT .

Note: 1.For use with braided hoses.

2.0t T PG A5 250k 87692-xx-XXo

2.1f use with spiral hoses, hose fitting series number is 87692-xx-xx.

89




DOMAIN HYDRAULIC HOSE FITTING

88111

HE2=
JIS FLANGE

5 EER ik %% HOSE BORE K~ DIMENSIONS

PART NO. FLANGE SIZE| A#kP 4% DN | kx5 DASH A C D L
88111-10-08 5/8" 12 08 45 342 | 278 | 6.7
88111-10-10 5/8" 16 10 455 | 342 | 278 | 6.7
88111-10-12 5/8" 20 12 46 342 | 278 | 6.7

e LR TSR
Note: 1.For use with braided hoses.

2.5 FH TSR S O 88112-x%-XX o
2.1f use with spiral hoses, hose fitting series number is 88112-xx-xx.

A

P — m«L — 88141
N -
= Qe 45° B#IE=

< 45° JIS FLANGE

(A=) RS i & HOSE BORE JU ) DIMENSIONS
PART NO. FLANGE SIZE| A# A1 DN | br'5 DASH A C D H L
88141-10-08 5/8" 12 08 58.9 34.2 27.8 24 6.7
88141-10-10 5/8" 16 10 69.6 34.2 27.8 25.3 6.7
88141-10-12 5/8" 20 12 76.3 34.2 27.8 28.9 6.7

He 1RGSR 2. ity Pl s A AT BON 88142-xx-xxX.o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 88142-xx-xx.
88191
T
90° H#ZE=

= 90° JIS FLANGE

G HEERE Jik_ % HOSE BORE )51 DIMENSIONS
PART NO.  [FLANGE SIZE| A#P1£ DN 455 DASH A C D H L
88191-10-08 5/8" 12 08 41 34.2 27.8 48 6.7
88191-10-10 5/8" 16 10 56 34.2 27.8 52.5 6.7
88191-10-12 5/8" 20 12 66.2 34.2 27.8 62 6.7

T RS T oo .

Note: 1.For use with braided hoses.

2. Wids TG R AR 5 250K 88192-xx-XX.o
2.If use with spiral hoses, hose fitting series number is 88192-xx-xx.

90




DOMAIN HYDRAULIC HOSE FITTING

90011
HEERES
L DOUBLE CONNECTOR
5 B HOSE BORE ]~} DIMENSIONS

PART NO. AFRA1EDN br DASH L
90011-04 6 04 69
90011-05 8 05 69
90011-06 10 06 73
90011-08 12 08 77
90011-10 16 10 83
90011-12 20 12 93
90011-16 25 16 114
90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170

vE: HF9m8ik4s¥. Note:For wire braid hose.

91



DOMAIN HYDRAULIC HOSE FITTING

i 90012

’-[U‘u XU EFE

DOUBLE CONNECTOR

L
= & HOSE BORE JU <} DIMENSIONS
PART NO. AFRAAEDN Fr5 DASH L
90012-04 6 04 83
90012-05 8 05 87
90012-06 10 06 87
90012-08 12 08 91
90012-10 16 10 97
90012-12 20 12 110
90012-16 25 16 134
90012-20 32 20 153
90012-24 40 24 172
90012-32 50 32 178
e T2 . Note:For sprial hose.




Domain %%

Domain, GIVE YOU WHAT YOU WANT!

www.domaincz.com

domaincz@domaincz.com



LR 55 WG AT
Hotline Service Wechat Public Account

FHLA s
Official Mobile Website

GIVE YOU WHAT YOU WANT

2% (EM) HMAARAHE]

DOMAIN (CHANGZHOU) TRADE CO., LTD.

Mol A VT 5 HEL X SR L % 2565109

Add.: N0.25-6-109, SUHUA ROAD, LUOXI TOWN, XINBEI DISTRICT, CHANGZHOU, JINAGSU,

B (Tel): 0086 15295056018

fEHE (Fax): 0086 0519 83463696

MBZw (P.C): 213000

HFHfA (E-mail) : domaincz@domaincz. com alan@domaincz. com
NHEER (Website): www. domaincz. com



	Bookmarks from 样册首页--反面.pdf
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10
	Ò³Ãæ  12
	Ò³Ãæ  13
	Ò³Ãæ  14
	Ò³Ãæ  15
	Ò³Ãæ  16
	Ò³Ãæ  17
	Ò³Ãæ  18
	Ò³Ãæ  19
	Ò³Ãæ  20
	Ò³Ãæ  21
	Ò³Ãæ  22
	Ò³Ãæ  23
	Ò³Ãæ  24
	Ò³Ãæ  25
	Ò³Ãæ  26
	Ò³Ãæ  27
	Ò³Ãæ  28

	Bookmarks from 样册首页--正面.pdf
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10
	Ò³Ãæ  12
	Ò³Ãæ  13
	Ò³Ãæ  14
	Ò³Ãæ  15
	Ò³Ãæ  16
	Ò³Ãæ  17
	Ò³Ãæ  18
	Ò³Ãæ  19
	Ò³Ãæ  20
	Ò³Ãæ  21
	Ò³Ãæ  22
	Ò³Ãæ  23
	Ò³Ãæ  24
	Ò³Ãæ  25
	Ò³Ãæ  26
	Ò³Ãæ  27
	Ò³Ãæ  28

	Bookmarks from 样册尾页-反面.pdf
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10
	Ò³Ãæ  12
	Ò³Ãæ  13
	Ò³Ãæ  14
	Ò³Ãæ  15
	Ò³Ãæ  16
	Ò³Ãæ  17
	Ò³Ãæ  18
	Ò³Ãæ  19
	Ò³Ãæ  20
	Ò³Ãæ  21
	Ò³Ãæ  22
	Ò³Ãæ  23
	Ò³Ãæ  24
	Ò³Ãæ  25
	Ò³Ãæ  26
	Ò³Ãæ  27
	Ò³Ãæ  28

	Bookmarks from 样册尾页-正面.pdf
	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10
	Ò³Ãæ  12
	Ò³Ãæ  13
	Ò³Ãæ  14
	Ò³Ãæ  15
	Ò³Ãæ  16
	Ò³Ãæ  17
	Ò³Ãæ  18
	Ò³Ãæ  19
	Ò³Ãæ  20
	Ò³Ãæ  21
	Ò³Ãæ  22
	Ò³Ãæ  23
	Ò³Ãæ  24
	Ò³Ãæ  25
	Ò³Ãæ  26
	Ò³Ãæ  27
	Ò³Ãæ  28


